Nidle=r

—All for dreams

FLE <WAVE

WP series

7 & il 15D A IRk B

A High precision reducer

www.nidec-shimpo.co.jp BASEL RS
NIDEC-SHIMPO CORPORATION



[HeffiOfEE ] 2nHBRI-b DI VESTT

"Relentless Refinement of Technology",

FLEXWAVE

IJLyHOR9x—7




HARBED RHPBEL T 2503 MO F iy,
ZOH AP HENS T LB ESHEELEL,

ARy bOERDIEL., FEHEHBREENOHFIEE>TWET,
BLALBEBRDERICBA DN S E TR TELEMEERL.
BEJIVANIMBRE BNV ISV DBERETHSEE L.
[FLYyIRDT—T o FrYVRADOFEEZEFBWBDEVEIH T
ORYy PP TEEBOMSESEILBECERELET,

Nidec-Shimpo Corporation is a global leader in various high
precision gear technologies. Based on increased demand for
higher accuracy from machine tool and robot manufacturers,
we've utilized our expertise to develop a new gear reduction
mechanism.

his mechanism, called Flexwave, addresses the need for

high torque density in a lightweight, compact package,
combined with zero backlash and high reduction ratios. As a
result, manufacturers,of high performance robots, machine
tools and other automation equipment will see increased
performance and competitiveness in their respective
markets.

WHEHLDHEHG,
R H 5,

Tractioning Your Future

INDEX

ERARFER

Parts Configuration
IR
Reduction Mechanism
Bt FRBE L
Parts Name / Reduction Ratio
RIGERTE

Model selection

BHESATA

Standard type A

o A b~ W

BB R/ Rk 6
Reducer Model / Specifications
HiEx 7
D\mens\orws Table

FEAnETE (EMEET ) 12
Ll{e estimation (Elastic bearing)

FavatE ( ESE ) 13
Llfe estimation (Main bearing)
ANBDHABRTTE 15
Maximum load at input shaft
B 16
lubricant information
B 17
Attachment fixture requirement
=EMLY 18
Transmitting Torque
ASIERHEE 21
Input section structure
EREIE 22
Installation and assembly instructions
E—Y B HIE 23
Motor installation procedure
T —% 24

Characteristics Data

mhILYS47B

High torque type B

PERES: Zil b WL a3 32
Reducer Model / Specifications
HEs 33
Dimensions Table

FHenatHE (T ) 38
Llfe estimation (Elastic bearing)
FFanats (Ez ) 39
Life estimation (Main bearing)
AN DR E 41
Maximum load at input shaft
EEH 42
lubricant information
R 43
Attachment fixture requirement
=EMLY 44
Transmitting Torque
ANEEE 47
Input section structure
EREIE 48

Installation and assembly instructions

{R¥ES 47D

Flat type D

BUREERIEC / (AR 49
Reducer Model / Specifications
iR 50
D\mens\oms Table

FAnaTE (HMEET ) 55
LMe estimation (Elastic bearing)

FanatE (FHF ) 56
Llfe estimation (Main bearing)
ANEDFAFE 57
Maximum load at input shaft
B 58
lubricant information
R 59
Attachment fixture requirement
=ENLY 60
Transmitting Torque
EREIE 62
Installation and assembly instructions
HET—5 63

Characteristics Data



FLEXWAVE

Lineup

B +—7V& Opentype

WPU-J-0-SNH WPU-J-[1-SDH
WPU-O-0-SGH &
[ZZV RS AT () Hollow unit B O0—X& Closed type

WPU-[]-[1-SNJ WPC-[I-[1-CF WPC-[1-[1-CG
WPU-[1-[1-SGJ WPC-[]-[J-CN WPC-[J-[1-CD
PE=URSA T (A Input shaft unit VYRRV b4 4 7 Component

WPS-[1-[J-SN WPS-[I]-[1-SD WPU-[I-[0-CF WPU-[1-[]-CD
WPS-[1-[1-SG WPU-[J-[0-CN WPU-[I-[0-CDH
_Ie unit WPU' [1-[] -CG
3=y &4 T Unit

ol SR RE R JLyHREY (EE - ZHA)
Parts Configuration Flex gear (thin / flexible)

His (FEMH)
Cam(elliptic)

RS (HR - 2R AT6E
Elastic bearing(thin / flexible) AVEFLED

Internal gear



Uk A
Reduction Mechanism

MBS - T Ly I AF Y H LICKoTEARKIC
ERSEET.

FEARBMBOMB CILYIRT AV ST
FYHNSVAREHENET,

AVIFNFVFEETEL. H LR HEIC360°
EERSEeE AVIFULFTETLYIZAFTTD
WHEDNEIF 7Ly I AF A R A REIC
EEELEYS

-Flex gear and elastic bearing take elliptic
shape with the cam inserted.

-Flex gear and internal gear are engaged
at both ends of the long axis of the ellipse
in a stable manner.

-With the internal gear fixed, when the cam
(input) is rotated clockwise, the flex gear
(output) rotates counterclockwise. And
its rotational speed is determined by the
tooth count differential between two gears.

A L= sO0—XE F—TVE
DB DD%%‘;T\ Closed type Open type
Parts Name LB F LY 7 A28 )LFY
Internal gear L Internal gear
TLYIRENR —
Flex gear B
~ TLYIRFY — |

Flex gear

| B EitEZ -+

Elastic bearing

¥BARAL % ~ HEAAL
Elliptic cam Elliptic cam

1

T

IE L

Reduction Ratio

Output

Input
" o1 , __1
gu%nigo R Hﬁtb R+1
AN EER A R & A EER S R A MANEER AR & HARRHRDE L
*The input and output rotation directions are opposite. *The input and output rotation directions are same.

O R (LBEMRFR DIBIEL

R represents the 'Ratio’ figure in the specifications table on the next page.



FIFETE Model selection

BAZEEDRN

Model selection flow

R < H D BT DHERR
SEH ALY TR -SUTIVEE
RAHAMNLY  -mEREH -TFIVILEE

" E—AVMIE
Operation condition of the reducer
- Maximum output torque - Axial load

- Average rotation speed + Moment load
+ Maximum rotation speed

<€

- Average output torque - Radial load h

EHEHDOREL |e—

Re-evaluate the operation contidion

R DB K EREE

Temporary selection of a model

SE %80 32 I an D ERE

Calculate the life span for the elastic bearing

NG

T#ZHFan DR

Calculate the life span for the main bearing

NG

ANEZ T EDHEE

Calculate the load condition at the input bearing

NG

R DEFRTE

Reducer selected

BHXDOREL

Re-evaluation of the model



=%
I1TA

e

Standard type A

Standard
type A

Al AIRN
SRR Reducer Model Nomenclature 97
ec
S
55 X
it 2
g
JY—Z% 547 PYEs B L - kF i : iz
Series name type Size Ratio Code Specifications s
)
WP —X ogm b o i 35 50 CN ANEEE °
Component type
WP Series S 42 80 CF Input shaft o5 &
Simple unit type diameter g9 &
U raAZyNIAT 50 100 SN etc. %g E%
Sy == 63 SNH S B
Unit type 120 ;ig
Input shaft unit |
Hollow unit 80 160 SNJ 5 =
DO A
= [218)
H o HO— FEEMRIE AT CRRRCIEE L, g2 &t
.*ﬂ_%i‘% Availability For the code details, please check %’_g, 5
Ratio matrix the Dimensions Table. 383 3
Sy z22% 50 | 80 | 100 | 120 | 160 #
2 35 -
gl 42 SIEEA
50 S5 BN
63 SR
80 353 #
i s B
NN e s W
SR B AT KR Reducer Specifications g
# 2 3 4 %5 6 #7 3 % E
HAEH HARA FEHEFRA AT HERS EAE =2 g
| BeER N bLs bLs AN B A Bl AP EE =
-'j-./f A | 'Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lz 3% -
Size R torque torque torque input speed speed g
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46 r—
85 80 9 27 55 3000 8500 8 12
100 9 32 63 ERS
50 21 44 91 H )71/
80 26 50 102 g
42 100 28 63 129 3000 7300 g
120 28 63 129
50 33 73 127 PRg—
80 40 86 149 R A
50 100 47 96 172 3000 6500 ?_r%@ =
120 47 96 172 o5 B
160 47 96 172 7000 23, =&
50 51 127 242 g &
80 66 142 266 s g
63 100 70 163 295 3000 5600 Tz %
120 70 163 295 88 |
160 70 163 295 ga 4
50 89 253 447 s R
80 122 316 590 S 5
80 100 142 346 673 3000 4800 =
120 142 346 673
160 142 346 673 Q%)’ E
¥ 1 REZAR—VDORICANTEELZKHTLLZEL "1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table. 8 A
¥ 2 ABEIEREL 2000r/min DRFICEFAR T 2 & AME *2 The maximum allowable value at the input rotation speed of 2000r/min § |
3 3 g - (FLEFICHE T 2RAE *3 The maximum torque when starting and stopping. g %
¥ 4 BRENMEALIFICHRT 2RAME *4 The maximum torque when it receives shock. o
¥ 5 BB LR T 2 AN BB O KE *5 The maximum average input speed. 5
X 6 EEHICHFRT 2 ANEEHORKE *6 The maximum input speed.
3% 7 AH[EERH 2000r/min, SRR MO BREEOFEGERE 7 The life time at the input rotation speed of 2000 r/min and nominal output torque.
FLEXWAVE WP>U—-X 6




Standard type A
~}3yE3ZR Dimensions Table

HO0—XB AVRAVINIAT
Closed Type, Component
WPC- [ -] -CN
WPC- ] -] -CF

)

LE

LF LM
LH LG
HD cy
X N-oLU
4}0< 2-LT
= -
—1 ) Q\}‘
@1 , w(JS9)
g N| o g I @(') TN g / — )f\
R IR R < N, T
s Y %E% s \ N
& \ ’
! )
o) -0 <
47 e, BSH (H7)
st
SU 2-M3xk
. = BEE—XV b
E "j'S’f Al Weight Moment of inertia
= e kg x10"kgm’
**:f’* 35 0.10 0.0383
E‘ 42 0.17 0.0855
INPUT SHAFT FOR 35842 °0 026 0.207
63 0.43 0.544
80 0.91 1.63
[mm]

P4 X #1
Size LA LB LC | N LU

LT LE LF LG LH LM | SG SH SL W

35 | 44 | 38 | 50 |8(6)| 35

M3 | 28,5 | 17.5 6 2 11 15.8 6 18.5 -

42 54 48 60 |16(12)] 3.5 M3 | 325 | 20 65 | 25 | 125 | 158 8 20.7 -
50 62 54 70 |16(12)| 3.5 M3 | 335|215 | 75 3 12 |1 248 | 12 | 215 4
63 75 67 85 |16(12)] 4.5 M4 37 24 10 3 13 | 278 | 14 | 216 5
80 100 | 90 110 |16(12)] 5.5 M5 44 28 14 3 16 | 278 | 14 | 236 5

YAR T | sU|SA|SB|SD| M |ST| S| HD|CA|CB|CX|CY|cz
35 | - | 25| 17 | 11 |235| 6 | 45 | M3 | 24 |cos5|co3| 17 | 1 | 38
a2 | - | 3 | 19102 ] 6 | 55| M3| 3 |cos|co3| 19| 1 | 45
50 |138] - | 24 | 16 | 32 | 8 | 55| M3| 3 |cos5|co5|205]| 15 | 53
63 | 163 - | 30| 20 | 40| 8 [ 65| mMa| 3 [cos|cos5| 23 | 15 | 66
80 | 63| - | 40 | 26 | 52 | 8 |88 | M5 | 32 |co5|co5|268]| 15 | 86

¥ 1-CN & -CF THENRRU EY,
() NIX-CFnfETY,

¥ 2 AAEEMIC DOV TUL, BIETERICTRRT I,

3# 3 CX. CY. CZ (37 —ARNEHHERESTE TS,

*1 -CN and -CF are different in dimensions. The -CF value is shownin ( ) .
*2 For details in the input section, please check the drawings.
*3 Inner dimensions of CX, CY, CZ are recommended dimensions.



I17A
Standard
type A
LT 1
82 BRE
go &
= &
o g% I‘
HO—XE A=y k547 > =
Closed Type, Unit
. = BHEE—XV b 2
"j'sff7\ Weight Moment of inertia § %
WPU- |:| = |:| -CN 126 kg x10*kgm? g'
[
WPU_ (1= _CF 35 0.50 0.0377 g
42 0.68 0.0856 g
50 095 0.207 —
63 1.5 0.544 50 &
80 3.3 1.63 o5 :%.
LE 28 3
LF LM =2 }E%
LH LG |LK E
Y N-LU — —
0-ring NoLT EFF z\j:
0-ring — >@ B
= —— . g5 &
] = : & £ m
%:_B h c °s =
h % ' W(Js9) ]
- = b S— é’) = ' j-- \ — - L
HEHE - = Y Hj 4 ? ees A
! 578 #
—— / 25 B
“] g e ] - %
o1 =
e $SH (HT) 2Z W
sU 2-M3xk X sL <8 f¢
R
E RN 3
i g
o 5 = |
INPUT SHAFT FOR 35842 [mm] % J\li_
. )Y
VAKX LA | LB | LC | LD |N*'| LT | LU | LE | LF |LG|LH|LK|LM | DB /| SG = 7
35 | 65 | 56 | 73 | 31 |8(6) M4 | 45 | 41 | 27 | 7 | 35 | 2 14 | 38 | 158 ’
42 | 71 | 63 | 79 | 38 |8(®6)| M4 | 45 | 45 | 29 | 8 4 2 16 | 48 | 15.8 823 g%
50 | 82 | 72 | 93 | 45 |8(6)| M5 | 55 |455| 28 | 10 | 5 | 3 |175| 56 | 248 % %‘%
63 | 96 | 86 | 107 | 58 [10(8) M5 | 55 | 52 | 36 | 10 | 5 3 | 16 | 67 | 278 230 i
80 125 113 138 78 12 M6 6.5 62 45 12 5 3 17 90 27.8 g 2
S5 E |
YA X g2 )
Size SH SL W T SU SA SB SC M ST HD | CX CcY Ccz e 4
c g
88 6 18.5 - - 2.5 23 11 8 6 |M4x8 95 1.6 1 38 % %L
42 8 20.7 - - 3 27 10 7 6 |M5x8l 95 1.3 1 45 &
50 | 12 |215| 4 |138| - | 3 | 14 | 10 | 8 [M6x9 9 | 15 | 15 | 53 o |
63 14 21.6 5 16.3 - 42 20 15 8 |M8x10] 12 3.4 1.5 66 g ]7%
z |
80 14 23.6 5 16.3 - 55 26 20 8 [MIOx12] 15 52 1.5 86 5 %
¥ 1-CN & -CF THENERRU T, *1 -CN and -CF are different in dimensions. The -CF value is shown in () . %D’
() AL -CFnfETY, *2 For details in the input section, please check the drawings.

2 ADEREFHMIC DL TR, BIETERICTHERET S,
¥ 3 CY, CZ 37 —AREEHEE~TETT,

*3 Inner dimensions of CY, CZ are recommended dimensions.

FLEXWAVE WP>1—X 8



Standard type A
~}3yE3ZR Dimensions Table

A—TVE BB NI4T
Open type, Simple unit

. = BHEE—XV b
"fs’f Al Weight Moment of inertia
WPS-[1-[]1-SN e kg x10"kgm?
35 0.39 0.0391
42 0.55 0.0870
50 0.79 0.209
63 13 0.549
80 27 1.65
LE
LF LM
SC LJ LH
M-¢ST LG
Yy
N-LT
! N\
m&
W(JS9)
v 1—h
EE = @C)D NEE —_ |
EE ECE R
P — \_‘
& {%]J» #SH (H7)
I_'-_\/ \(bf
su 2-M3x4, <& sL e AT
SN F X
B (8/'\2 EiQUAL \ !‘ WB/QGiEﬂUAL X,
[‘—ri‘] ® i " i i *
— \“‘T‘X \‘1»}*‘(‘
E‘ “N-LT" “N-LT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
[mm]
*JLSTL eZ LA | LC | LE| LF|LG|LH]| W |M|scg|SH|sL|w]| T |su|sAa|sB
35 | 44 | 50 | 285|235| 6 | 7 |141| 5 |158| 6 |185| - - | 25| 64 | 48
42 | 54 | 60 |325|265|65 | 75| 16 | 6 |158| 8 |207| - - | 3 | 74| 60
50 | 62 | 70 |335| 29 | 75 | 85 | 175| 45 |248 | 12 |215| 4 |138| - | 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 |278| 14 |216| 5 |163| - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 |234| 2 |278| 14 |236| 5 |163| - | 132 | 114
s Alsc|sD| M |[sT|cajcy |cz|cv|cw| N LT
35 | 24| 70 | 8 | 35|C03| 1 |38 | 16| 31 | 8 |[M3x5, ¢35x6
42 | 3 | 80 | 12 |35 |C03| 1 | 45 | 2 | 37 | 16 M3x6, ¢ 35%65
50 | 3 | 90 | 12 | 35 |C03| 15| 53 | 2 | 44 | 16 M3 x6, 35% 75
63 | 33 | 110 | 12 | 45 |C03| 15 | 66 | 2 | 56 | 16 |M4 x 7, ¢ 4.5 x 10
80 | 36 | 142 | 12 | 55 |C05| 15| 86 | 2 | 72 | 16 |M5x8, ¢ 55 x 14

M ADBRFMICOWNTUE, BIETERICTHET S,
#2CV, CW, CY, CZ 37 —AANEEHE~ETT,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



FA—TVE A=y oA T (FZE)
Open type, Unit (hollow shaft)

WPU- ] -[]-SNH

ﬂ—Sé ex Weigg%n Tﬁlﬁgt of>i(ne/rti|s;
kg x10*kgm?
85 0.57 0.103
42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 3.4 3.18

LE

LG

LF

L

H

4+
Ki f{'ﬂ\x
fs/ 2EQUAL) T_16/20 EQUAL ‘(
T / ; !
P ‘ /‘ & #
\1%_1 L /{‘
NLT" N-LT"
INPUT SHAFT FOR 35442 ARRANGEVENT FOR35  ARRANGEMENT FOR 42
[mm]
-'j-S\/LeZ LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
B 44 36 54 70 525 | 205 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 55 6.5
50 62 50 75 90 515 25 5 21.5 7 9 10.5 - - -
63 77 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 9.5 12 - - -
YAX| sa | sB | sc | sSD| SE|SF| M |ST|su| N LT
89 64 - 14 20 74 36 8 3.5 M3 8 M3 x 5, ¢ 35 x 11.5
42 74 - 19 25 84 45 12 3.5 M3 16 M3 x 6, ¢ 3.5 x 12
50 84 255 21 30 95 - 12 35 M3x6 16 |M3x6, ¢ 3.5x%x 135
63 102 33.5 29 38 115 - 12 45 M3x6 16 |M4x7 ¢ 45x%x 155
80 132 40.5 36 45 147 - 12 55 M3x6 16 |M5x8, ¢ 55 %205

FLEXWAVE WP>1—X

UolBWIOUI JUBDLIGN|

suononJsul Ajlquesse

=%
I1TA

Standard
type A

S

suoneoloadg
/ |opOIA Jeonpay

a|qeL suoisuswig

UoIBwNS®e 8yl

EER ) MRS

(Buleaq onse|3)

(Bulleaq urely)
UOIBWINS® 847

/yeys indul
e Peo| WNWIXe|

Juswalinbal
2INIXI} JUBIYOBNY

pue uole|eisu|
anbJo| Bumwsuel|

ainpaooid
uolje|[elsul 1010} | /ednjonuis uonoses Induj

BlR( SoNsleloRIBYD

| PRHERE R

WS

A

(Mg ) SRS | (e

OB >

i

B

I

et




Standard type A

~FyEZFR Dimensions Table

F—TVE A=y NyA T (A1)

Open type, Unit (input shaft)

S

. = BHEE—XV B
"jé’f Al Weight Moment of inertia
WPU- []1-[1-SNJ e kg x10“kgm?
85 0.48 0.0376
42 0.69 0.0897
50 1.0 0.208
63 1.6 0.554
80 3.2 1.74
LE
LG LF LH
L LK LJ
M-gST
TR
/ | N LR
B . SC sV o8 La E
/ u \
i N I | |-
o—{&H <} I
Q)L)P 3 /’ ° E
| 2
(E | =1
- 1=
Lp
- ﬂ 4 -+
QFL =1 R
Fameaua P we0poual ¥
N LAy g
P ‘ ) ‘
= \“T'X ‘w#yr‘f
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-H-Séez LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
89 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 725 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
YAX| sa | sB | sC | SE| SV |[Sw | M | ST |SU| N LT
& 64 6 - 74 - - 8 3.5 - 8 M3 x 5, ¢ 3.5 x 11.5
42 74 8 - 84 - - 12 3.5 - 16 M3 x 6, ¢ 3.5 x 12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6,¢ 35x%x135
63 102 14 11 115 5 5 12 45 M3x6 16 |[M4x7, ¢ 45x%x155
80 132 14 11 147 5 5 12 55 M3x6 16 |[M5x8,¢55x205

11



=%
I1TA

Standard
type A

A\Y
FEOETE (SEMEERSZE) Life estimation (Elastic bearing) T
5z 1zl
a2 =
W =, e Z
MRS HF AT E
Life span for the elastic bearing
o <
3 s
2 &
== ] ~ | | 2
W EeR/ \y—V T, | | § =
Operation cycle example afr by ' T, | A
Working torque } T, ! T, g
1 +
| ETjF'aEJ ————
} } ime oF =
| | zg l:'-ll'-l
n ny n 5‘5. E'I'
S~ g1 ¥
X
Hi ) B 5 g g &
tput rotati 2
Gupgretton 1t | 6 [t | 4 | g -
Time 2 &
S o ﬁ_ﬁ
o2 =
DFHHEA b LY - BAHA M LY DEH Q!
Calculation formula for output torque es %
3 ¢ 3 n.t 3 %
FHHA MLy Tao | Nm  Tao=s| M Ee| Tyl ™+ Mo o To| eeet Mo £ T ==
Average output torque net,+n,etyeeen et gg% {}%%é
2%z 1]
523270
RAH bLY Tmo | Nm /MO =Tu To coe T, DFKIE s 8 &
Peak output torque value Tmo = Largest among T, T,, --- T, § o 1/?_.}
o =]
> )
BoRH ML HFEBBAHAUTTHSD & & THET S m—
Please make sure the peak output torque is below the maximum output torque in the specification table LED g {E}
3 g *z
QFH AN - B AN EEHOHEH -
Calculation formula for mput speed g
[0}
qzigﬂjjjlﬁliiﬁ g — n7.t7 +n2.t2." nn.tn —_—
Average output rotation speed nao r/min - Nao t+t,t et t, ;§ fé
%] =
2R
= > L
BEE A EEEY amo | t/min 7770 = M N2, DEKIE S v
Peak output rotation speed nmo = Largest among ny, ny, *** n, 3
YA S EEREL : ; - = S = ot FEEF Y
Average input speed nai | r/min  nai=nao x R (R=E#EE) (R = ratio) 233 g%
528 HH
o _ SSEIEE
B A ElERH : - _ - s . 558 At
Peak mput speed value nmi | r/min  ami=nmo x R (R=E:&EL) (R = ratio) g ©
g 2
e ANBEHIHFEESANRGEHLU T THD L CHERTSL ° 3
Please make sure the peak input speed value is below the maximum input speed in the specification table RS [
g |
QFarfFHEDETE £3 E?X
Calculation formula for life span 5 %L
o
)
Tar \8_ [ nar '
oo RIS | jhe | h | Lhe= 7000 x — L
art life span for the elastic bearing Tao nai Q
: o
EHENILY Tar | N | EREROFFAEH bLY & 7
Rating torque Nominal output torque in the specification table % 5',
O
TERE AT EIRREL : - &
Rating input rotation speed har r/min | 2000 r/min |

FLEXWAVE WP>1—X 12



13

Standard type A
FEaietE (EHSF) Life estimation(Main bearing)

B EEHTAR (VOXO—J85%) Main bearing specification(Cross roller bearing)

JOOEYFHR | A7ty M| EABTEREE | ZAREREE | F8ET— XV | E=XV MK
- 4 4 | Pitch circle diameter Offset Basic dynamic |Basic static load |  Allowable Moment
: . of the bearing rollers load rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm x 10*Nm/rad
5 0.0335 0.0088 5620 6540 36.5 7.35
WPU-0-0-CF 42 0.0410 0.0098 6340 8170 55.8 8.02
o 50 0.0485 0.0098 10400 13300 91.0 13.5
WPU-[I-[J-CN
63 0.0620 0.0108 15800 21100 156 27.7
80 0.0815 0.0128 24400 35600 313 66.0
35 0.0505 0.0162 7110 10200 74.0 14.4
42 0.0598 0.0180 10900 15200 124 19.7
WPS-J-CJ-SN | 50 0.0708 0.0194 17200 24700 187 40.1
63 0.0856 0.0234 25100 37400 258 71.5
80 0.114 0.0292 43300 67600 580 188
3B 0.0505 0.0217 7110 10200 74.0 14.4
WPU-C1-CI-SNH 42 0.0598 0.0235 10900 15200 124 19.7
el 50 0.0708 0.0254 17200 24700 187 40.1
WPU-[]-[J-SNJ
63 0.0856 0.0289 25100 37400 258 71.5
80 0.114 0.0357 43300 67600 580 188
a1 =4 ANE
THMZHFGITE |
Life span for the main bearing Fry |
Fr, !
B/ Y —Y SUTIVEE | P
Operation cycle example Radial load ! Fr, gﬁfgﬁ
Fa,
Fa,
TEUYILRE Fa,
Axial load Fas 5]
! Time
ny 2 N3 i
Hi A EEE  \Un
Output rotation : ]
speed Lyl [t Yy ‘ Time
W S EB AT
External load L
Lr L L L
I L = S L — £ ]
Fr i 1
@ | w £ £ r E|
] [a) =) L [a) t
jLF:B : | |

©




9147A
Standard
type A
<3 L
82 BRE
S8
= &
22 I
OFRKBRE—XV POHEH = =
Calculation formula for the largest working moment
—= N ) Tj— [
?kﬁﬁ{_x ~ b Mm Nm  Mm=Frm - (Lr+L)+Fam - La 3 ik
eak working moment 8 %
o
BASUTIIEE Erm N Frm = Fr;, Fry -+« Fr, OBXIE %
Peak radial load Frm = Largest among Fr,, Fr,, -+ Fr, S
BR7EUvILEE Fam N Fam=Fa,, Fa,, --- Fa, DEKXIE —
Peak axial load Fam = Largest among Fa,, Fa,, --- Fa, gf ?ﬁ
BABHE— X MEBE—A MITTHELECRATEL !
Please make sure the peak working moment is below the maximum allowable moment % S =
e E
QFHSITIHE - 7+ IILHE FHHNEGE - FTHAamE—X bOEH 55 %
=
Calculation formula for the Average radial load, Axial load, Average output rotation speed, g‘é &t
Average working moment 52 ¥
Qo ;
7w
TS T IVEE . y AL el Fro| %54 | Fro | Yoenet e e 1| 5 3
Average radial load - Nt tn.etteetn -t
1t 2 t2 n‘n c35Z 3
g2 B4
g'gé /B
$t37A¢_~‘l/lvébr,ﬁE Fas N Fan%J Pyt Fay| %54 e | | %5 et Mo Lo P %5 =35 u%
Xial loa B . Cft e . S 8 i
nyety+n,ct+ e +n ot § 5 &
SO
Y5 A ElEREL nao | r/min  nao= Nty 0, teeen, -ty %
Average output rotation speed E4t. 4 oeeett > |
1 2 n 3z B
33 18
A:Fiéjﬁﬁf_x vk Ma Nm  Ma=Fra-(r+Ll)+Faa-la 22 K
verage working moment z
3

QRERIM -BEM>Y 7 IILHREOHEH

Calculation formula for the Loading factor, Equivalent radial load

anbJo| Bumwsuel|
—
<

Faa <150%&. Xc=1.0, Yo= 045
Fra + 2Ma / Dm |

TIERE 855
Loading factor Xc, Yo . - % 23 %%
ad > 15084, Xc=067, Yo=067 S
Fra + 2Ma / Dm 23S &
BEMS 27 TE _ v _ s 2
Equivalent radial load Pe N Pc = Xc- (Fra + 2Ma/Dm) + Yc - Faa s 3 i
RS
5 )
@EwhZ DFaEFE O LW
Life span for the main bearing 5 75
10 lf
RS SR 10° Cc \3 -
Life span for the main bearing Lhe h Lhc= 60-nao | fw- Po Q ’-]’F;
1.0 : BEE#EDEVES o shock g 7
& :
Irﬁlfﬁi%or fw = 1.2 ZLOEEZHSHBE  with some shock é
1.5 IRBEREHSHE with shock and vibration .

FLEXWAVE WP>1—X 14



Standard type A
ATENDEFRTE Maximum load at input shaft

WAk (F—T VB, 22y 94 7) Bearing specification (Open type, Unit)

L

NF7YVTA 7YV B
Bearing A Bearing B
-2 HAZ| BEAREBERTE AR EMTE HABEMTTE FAB T a b
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating
C Co C Co
N N N N mm | mm
5 4000 2470 4000 2470 16 27
42 4300 2950 4300 2950 16 31
WPU-[J-[J-SNH| 50 4500 3450 4500 3450 145 | 275
63 4900 4350 4900 4350 15.5 | 30.8
80 14100 10900 5350 5250 19 | 37.0
85 2240 910 1080 430 24 | 215
42 2700 1270 1610 710 27 | 23.5
WPU-[J-[J-SNJ| 50 4350 2260 2240 910 315 | 26
63 5600 2830 2700 1270 375 | 29
80 9400 5000 4350 2260 39 | 385
7YV TA 7YV TA
Bearing A — ] . . Bearing A —~ ] . .
~N7)vIB 7Y B
\F 1 Bearing B \i B Bearing B
1 |5
a b a b
W AT E (9 AHEES: 2000r/min, 485 : 7000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 7000h)
WPU-[]-[J-SNH WPU-[]-[J-SNJ
800 35 500 35
\ —1A42 —_—12
450
700 \ e 50 \ e 5,0
400
— 600 —3 _ \ —63
= \ ——80 Z, 350 \ 380
L \ L \
y@ 400 WE 250 \
*'AE‘ T 300 N\ \ @ o 200 0N
Rg \ \ l:\ 8 150 \ \
= — =
g 20 \\ \ \ R w0 N\ \\i\ -
IN IN o
100
N\ N >0 NN
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
THFUYILETE Fa [N] TV ILFEE Fa [N]
Axial load Axial load

15




I1TA
Standard
type A
SEYBE lubricant information g8 tu
o.¢c BRiIR
S8
cx
> 2% T
ERTY—2R -
Grease |
9 ~
237w ZMP No.2 (F55EBFI RS %t) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.) 3 ;é
{FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature) S
J)—RMH 2E % |
Grease application 2o @r
PUF @Y, BoEE RIS —2ZRH L TFEW, Please apply grease according to the table below. 5% "
55
CHE
W J)—RBME Grease application g
-BRIEETCIZ BRI 7 Z8 (HORAEmE, EME, THE) CLUBRHEZERELTTSL, =5 7 B
(T)=ZHAFZHDIZY ;ATE. CHERE)DT)-REATEINTNET,) %% =
SRR LM E TREDHAFATASSY ~T —ANEECEHND50% DY U—REFRELTFEL, s E
=B LT U—RARET BB A B EF AL A EEEL, o
-The qgantity of grease applied to C shogld BRATIERT Applied part =
be adjusted depending on the mounting . =523
direction -'j-s/f % C C C 5§35 /Eﬂ%
- ize 35%7
C of the unit type product is already A B ﬁﬁmj‘f) (—tﬁi) (—Frﬁ']iP) D 503 lﬁljjilﬂ
; . . orizontal | Vertical up | Vertical down 53 D
filled with the same quantity of grease as 523 £
horizontal mounting. 35 0.3 0.3 6 8 o 03 § a %
-For vertical up/down, 50% of the space 42 0.5 0.5 10 12 14 0.5 58 2 |
between input assy and casing inner wall 50 08 08 16 18 29 08 s %
should be filled with grease. 3% EHy
-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5 ég F
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0 %% E
W) —RBMEB Grease application location %
| WPC-[1-1-CF(CN) | | WPU-[1-1-CF(CN) | | WPS-[1-[]-SN | — T
g 2
NN/ 7777 é )71/
= B B A
C &
I % —r §§§ EA
o o B
S28 =
i S3CHEE
e % é
smosoe . v e |
Fill 50% of the gap in volume y—xz EEONAERR %z £
gs |
E e 2
oy HX
= 2 &
s A
)
o g |
| s i
us | g 7
Tl i v
' 5
T2\ 2@ S0%e TR ?
FLEXWAVE WP>U—-X 16



17

L

Standard type A
EN{~T¥5 E Attachment fixture requirement

B BB E Attachment fixture requirement
| WPC-[J-]-CF(CN)|

I TN
1T
=2

!
m Input
section
# S ADE

Recommended tolerance — W3

JHW—

_ HERAZHT
H
=

Recommended

Out{aut e 8
8 *;g“ 3
- &y 7
BfHEE [mm]
b4 X
e 35 42 50 63 80
a 0015 | 0015 | 0018 | 0018 | 0.023
b 0010 | 0012 | 0014 | 0016 | 0.020
c 0013 | 0013 | 0015 | 0018 | 0.020
d 0015 | 0015 | 0018 | 0018 | 0.023
e 0015 | 0015 | 0018 | 0018 | 0.023
f 0012 | 0012 | 0014 | 0016 | 0016
g 0016 | 0.020 | 0024 | 0024 | 0024
| WPU-[-1-CF(CN) | | WPS-[J-[1-SN |
[©f b ]|
(1] 2 [o 7%
Casing
Z e, L2 A
. 3 AR
| £ e
— w|3E *2 %
m| wles #
- (L[ b A (1] ¢
/
1 [/
) ]
7 |
BfHEE [mm]  EfHEE [mm]
*fsff 21 35 42 50 63 80 TAX | 35 42 50 63 80
ize Size
a 0.020 | 0.020 | 0.020 | 0.025 | 0.025 a 0.025 | 0.025 | 0.025 | 0.030 | 0.030
b 0.012 | 0012 | 0014 | 0.016 | 0.016 b 0.020 | 0.020 | 0.020 | 0.025 | 0.025
c 0.016 | 0.020 | 0.024 | 0.024 | 0.024 c 0.020 | 0.020 | 0.020 | 0.025 | 0.025
d 0.012 | 0.012 | 0014 | 0016 | 0.016
e 0.016 | 0.020 | 0024 | 0.024 | 0.024




{=ZENJLY Transmitting Torque

AIL NERST

Bolting

AL MLIIETROBUTTY,
RILMARI (-CF -CNTELD) CfE [ ML ICUREF R MLIDNRIGZUETOTERTEL,
Please refer to the table below for the bolt tightening torque.

Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN)
and tightening torque.

IV M

NLY

Tightening torque for bolts

AL YA X

Bolt size

M3

M4

M5

M6

M8

M10 FEERILL @ BRERXS 129 M E

fEft hJLs [Nm]

Tightening torque

1.9

4.3

8.7

15

36

71

(BENILY (PO—ZB. 2=y 947)

Bolt specifications and Transmitting torque (Closed type, Unit)

HAH 75 VEft Output flange attachment

Recommended bolt :

Strength rating above 12.9

T4 X Size 85 42 50 63 80
RIL A X Bolt size M4 M5 M6 M8 M10
RIL b ARER Bolt count 6 6 8 8 8
B ft PCD  [mm] |Bolt PCD 23 27 32 42 55
#E4+ L4 [Nm]|Tightening torque 43 8.7 15 36 71
f=&Z bJLs [Nm] [Transmitting torque 56 106 238 566 1177
AV FILFVEST (CN) Internal gear attachment

b4 X Size 5 42 50 63 80
ALY AX Bolt size M4 M4 M5 M5 M6
RIL b A Bolt count 8 8 8 10 12
Efst PCD  [mm] |Bolt PCD 65 71 82 96 125
#54+ kL% [Nm] [Tightening torque 4.3 4.3 8.7 8.7 15
{&ZE bJLY [Nm] |Transmitting torque 210 230 430 629 1392
A5 FILFVYEA (CF) Internal gear attachment

T4 X Size 5 42 50 63 80
RIL A X Bolt size M4 M4 M5 M5 -
NIV M AEK Bolt count 6 6 6 8 -
Bft PCD  [mm] |Bolt PCD 65 71 82 96 -
¥+ kL4 [Nm] |Tightening torque 4.3 4.3 8.7 8.7 -
{=2E bJLY [Nm] |Transmitting torque 158 172 322 503 -

A2 R F IRV EfT

Internal gear attachment N

Yh o5y U

Output flange
attachment

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Buleaq onse|3)

(Bulleaq urely)
UOIBWINS® 847

/yeys indul
e Peo| WNWIXe|

UolBWIOUI JUBDLIGN|

wawadinbax
ain)x1y Juawiyoeny

suononJsul Ajlquesse
pue uole|eisu|

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onuis uoposs Induy|

9|ge] suolisuswi(

uolewInsSe o

WEDA | (deEEER) SR

~oones
il

onbJo) Bunywsues)

BlR( SoNsleloRIBYD

S
/ SR

i Bk R
/ RS >

S

> T
T

(MY ) I

HE
FHO BN

i

I

RATE | |

=

O S 7 i




Standard type A
{=ZENJLY Transmitting Torque

(EENILY (YO—ZB avERY k94F)

Bolt specifications and Transmitting torque (Closed type, Component)

T Ly AFVEUT Flex Gear Attachment

b4 X Size I35 42 50 63 80
AL HAX Bolt size M4 M5 M5 M6 M8
RIL b AEK Bolt count 6 6 8 8 8

Efst PCD  [mm] |Bolt PCD 17 19 24 30 40
#EF b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36
{=ZE b JLY  [Nm] |Transmitting torque 41 75 126 223 539

A5 FILFVYESA (CN) Internal Gear Attachment

b4 X Size 85 42 50 63 80
RIL A X Bolt size M3 M3 M3 M4 M5
RIL b ASK Bolt count 8 16 16 16 16
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
#54F bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
f=Z IS [Nm] |Transmitting torque 82 200 230 485 1048

A VA FILEVEST (CF) Internal Gear Attachment

P4 X Size 35 42 50 63 80
RIL A X Bolt size M3 M3 M3 M4 M5
NIV M AEK Bolt count 6 12 12 12 12
Bft PCD [mm] |Bolt PCD 44 54 62 75 100
¥+ kLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
{=ZE bJLY [Nm] |Transmitting torque 61 150 172 364 786

A2 R FILXVEIf

Internal gear attachment

r N

Ly 2 X EIfT

Flex gear attachment

@ L RMEBHN Reinforcement
Ly AF VRN OEZENVIDNEREZH/-ITWGEIE. EVDOFREZSEWLLET,
EvldgA 7 oavCEMAIEETT,

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins
=N

Forcing tap

WP-35, 42 WP-50, 63, 80

19



ENLY F—TVR)

Bolt specifications and Transmitting torque (Open type)

T Ly AFYEUT Flex Gear Attachment

T4 X Size I35 42 50 63 80

AL HAX Bolt size M3 M3 M3 M4 M5

NIV bR Bolt count 8 12 12 12 12

Efst PCD  [mm] |Bolt PCD 64 74 84 102 132
#EF b L2 [Nm] [Tightening torque 1.9 1.9 1.9 4.3 8.7

{=ZE b JLY  [Nm] |Transmitting torque 119 206 234 495 1037
A VHFILFVEUT Internal Gear Attachment

b4 X Size 85 42 50 63 80

RIL A X Bolt size M3 M3 M3 M4 M5

RIL b ASK Bolt count 8 16 16 16 16

Eft PCD  [mm] |Bolt PCD 44 54 62 77 100
#54F bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

{=ZE bJLY [Nm] |Transmitting torque 82 200 230 498 1048

JL v R XYy Eft

A2 7 F L EfT

Flex gear attachment

JL oy ZARVEAM

I

Flex gear attachment \

Internal gear attachment

A > 2 F )L F v Eft

qp
- \(—r/ Internal gear attachment
-1
]

JL w7 R EYEA
Flex gear attachment \

AV B F LY Ef
" Internal gear attachment

= -—F

= N B

FLEXWAVE WP>1—X

UolBWIOUI JUBDLIGN|

suononJsul Ajlquesse

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Bulleaq urely) (Buleaq onse|3)

uonewNsSe o)

/yeys indul
e Peo| WNWIXe|

Juswalinbal
2INIXI} JUBIYOBNY

pue uole|elsuy|

ainpaooid
UOIIE|[BISUI JOJO| | /2In1onuis uoposs Induy|

9|ge] suolisuswi(

UoBWNSe 8yl

) LS

NN~

onbJo) Bunywsues)

BlR( SoNsleloRIBYD

20

S
/ SR

i Bk R
/ R >

S

3

(Mg ) SR ED M | (M

R
OB >

i

il

I

et

=

O S 7 i

& —VIEEaE




21

Standard type A
ANTIERREE Input section structure

AFIBRDIEIE

Input section structure

ANEEEZ R T4V 547 (BEROEE) LUV Y RIATH BV ANNBEZFICIVRBUET,
M ERICTHREE TSV,

There are two types of input section structure, spline type (self-centering feature) and rigid type.

W74 5947 (BBIERLEE) MUYy RyAT
Spline type (self-centering) Rigid type
[

DLINEFE~TE

Cam hole diameter

DLRBTEEIEETDIENTRETT . FROZBENRZTEUTOEEF AT IA V54T BRERRF
~BARNBEOHHEK Y RIATERVET, TROBENDODTENVELZG S HUOEHLETIL,

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be
built in the spline type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table.

H v
A
I [ A
NG,
|
5 Li~F% Cam dimension [mm]
T4 X
Size 35 42 50 63 80
RIENE 6 8 12 14 14

standard bore size

BARINEV
maximum bore size 17 20 23 28 36

&NMNEE H
minimum thickness 6 7 8 9 1




SERERIR Installation and assembly instructions

AS - H A (wpe-0-0-c0)

Shaft installation instruction

AN BAE(E IR TSV 7IIEE - VIR EERITEOBELLTREL,

(TRIZZEH)

ALICIFBREADODASAMTENMFALET A LD B EICEINRVE I EELTFEL,

Please design the support structure for input shaft and output shaft so that both radial and axial loads are
supported. (Diagram below shows an example)
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.

i

Output shaft

OO

|
—T—

Simmie:
|

JEF_» ) H L

EY <t <F 3% (wpe-0-0-c0)
Attachment flange requirement
Ty RFPEFET MM TSV Ty I AFPEEBR DT
O TEROTEESFOTFEL,

For the attachment flange that comes in contact with flex gear, please
build the corner radius according to the table below, in order to prevent

Cam

damage.
[mm]
LS
o 35 42 50 63 80
D 24.5 29 34 42 55
R 1.2 1.2 1.4 1.5 2

VAL

Input shaft

=8

FLEXWAVE WP>1—X

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Buleaq onse|3)

(Bulleaq urely)
UOIBWINS® 847

uoljewJojul JueoLgn|
/yeys indul
1B PEO| WNWIXBIN

Juswalinbal
2INIXI} JUBIYOBNY

pue uonejeisu|

suononsul Ajquiesse

ainpaooid
UOIlE|[B1SU| JO1O}\ | /oInjonays uonaas induj

8|ge| suoisuswi(

uonewnse aj

~

anbJo| Bumwsuel|

ele solnsleloeiey)

22

S
/ SR

~
Him

™
FHO BN

i

sy I
| B S >

S

”“§>zﬂﬂ'

> T
3

PR )

(M) SIRZEED A | (B

il

] N
<

e
T

it

,;\l

= [




Standard type A

E—4BUT A E Motor installation procedure

E—YEfFHE WPu-0-0-c0)

Motor installation procedure

W ESFIR 1 Procedure 1
CE—HICT7oVI RIS -Attach the flange on to the motor
CE—AERCH L (ERS) ZERY ARHT -Attach the cam with elastic bearings to the motor shaft
cA=y MY AHT -Attach the unit

|

L

T
)
i
|
1
|
(L]
x

[T] (R
[ 1
1
1

Bt = ﬁ 1—t 1+ ﬂ}
il /H i —
BEn i " E—%
= —KE g;n% A motor
dzv b
unit TS
flange
M EfFIE 2 Procedure 2
CE—AERCH L (B ZERUAT -Attach the cam with elastic bearings to the motor shaft
BTV ERYUAIT -Attach the flange on to the motor
cA=y "AERYAHT -Attach the unit
| 7Y
H lange —
iel N = H =7
F . Hal
0 N I = % B I L %1—'{_:3) I —
Ll 4 4\@5\ . £—%
- 1 | | motor
= —N - h L
= = = carm

= —
unit

BB ODJER Caution during installation

- BERDOBEAEO TR, BELRADTHLATRVTTS L,
- AFIASSY (AL £—%) ZEITTHALBWEIITERLTFSL,

- Do not use excessive force while mating parts
- Please watch for tilting during input section assembly (motor insertion into cam)

23



BrMEST—4 Characteristics Data

AEGERE

Transmission Angular Accuracy

1.0
AEEERELIT
EEHCANBERGES U BANEHR LD £ 05 AEGREME
HIN SR f & ER OHI N EEE A 3= 3 s i
What is Transmission An | A o ok \g 0.0 ' ”‘u‘um‘[“" m Il \‘Im‘ \l “ \J‘\[‘I"‘”M‘\"\l‘ NENNANENN | l\‘\m‘,
gular Accuracy” w2 (AR I ﬂ”l”ll” H] ””””””” Il
It is the difference between the measured output %’i S
rotation angle and the theoretical angle, while % -0.5 =N
input shaft is rotated with no load. o
10, 90 180 270 360
HHEE R A E ()
Output shaft rotation angle (deg)
[arc min]
. P4 X
BOE L Size
Ratio ™35 | 42 | 50 | 63 | 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
HROEFSEETT,
Table values are reference values.
EXFJZA0X
Hysteresis Loss
E2FULRORENE REn AR
ADEEEE L TCHEAEIC ML ED TGS r
DEAMLIREORENAEDZE ERTULRAAZ
ysteresis LOSsS
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 1V > KLY
fixed, there is residual twisting angle when Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. Y4 X
BUR L Size

Ratio ™55 T 42 | 50 | 63 | 80

50 2.0 2.0 2.0 2.0 2.0

uoljewlojul JueoLgn|

suononJsul Ajlquesse

=%
I1TA

Standard
type A

suoneoloadg
/ |opOIA Jeonpay

(Bulleaq urely) (Buleaq onse|3)

uolnewnse aji

/yeys indul
e Peo| WNWIXe|

Juswalinbal
2INIXI} JUBIYOBNY
Sic
puilt

pue uone|elsu|

ainpasoud
uole|[eIsul 1001 | /2IN10NJIS UoNoes INdu|

S
/ SR

S

8|ge| suoisuswi(

Yoy 21 S

uolnewsa aj
(MEEH ) SRR ED A | (RERER)

E
FHO BN

i

B

e |
<

it

anbJo| Bumwsuel|
AN\

80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0 2
120 - 1.5 1.0 1.0 1.0 §
%

1

FLEXWRVE WP=>1—X 24



)

Standard type A

BrME—4  Characteristics Data

BRRNNVISYVE

Maximum Backlash [arc sec]
: - . o Y4 X
BRIy EEIE SEE L Size
N o — o N Rati
ANBHRT 5S4V 54T DHBEDHEHBIDSA S TS 42 50 63 80
(DO HEWED/NNIZy U 0 DIz UV Y R4 T TlE 50 27 27 18 16 16
What is Maximum Backlash? 100 13 13 9 8 8
In this context, maximum backlash is the output backlash 120 11 7 2 -
for spline type input shaft. (Backlash is zero for rigid type -
input, because gear engagement backlash is zero.)
B (yo—2B 2=y 947) K1 RS 70 ~ T, DIZRERK
) ) Spring coefficient at 0 ~ T, torque
Stiffness (Closed type, Unit) K2 R ILO BT, ~ T, DIF e
Spring coefficient at Ty ~ T, torque
ﬁ]“'ﬁt(i K3 MLOD T, ~ DIFEH
. Spring coefficient at T, ~ torque
ADAIZBETE L TCHARIC ML EDTRBEDER
EHLRLNE N —
What is Stiffness? K, ;
In this context, stiffness is the output shaft twisting © E
angle and the spring coefficient, while torque load is & % X i
applied to the output shaft with input side fixed. ﬁ = '
23 Ki ! i
: | |
0 : H
T sy T2
Load torque
. - o T4 X
BOE F B Size
Ratio item unit 35 49 50 63 80
- T, Nm 2 3.9 7 14 29
- Tz Nm 6.9 12 25 48 108
K, x 10°Nm/rad 0.28 0.69 1.1 2.7 5.6
K, x 10°Nm/rad 0.45 0.85 1.7 3.3 71
50 Ks x 10*Nm/rad 0.55 1.1 25 4.0 8.3
on arcmin 2.3 2.2 2.0 1.8 2.0
6, arcmin 5.7 45 5.3 55 6.5
K, x 10*°Nm/rad 0.45 0.92 1.2 3.3 6.9
30 Ko x 10*°Nm/rad 0.63 1.1 1.8 3.7 8.1
100 Ks x 10*°Nm/rad 0.70 1.3 2.2 4.5 10
120 6, arcmin 1.8 1.3 1.8 1.6 1.7
6, arcmin 4.7 35 4.8 4.4 49
KROBEIEFHETT,

Average value shown in the table

25



F1TA
Standard
type A
L3 L
82 BRE
SRR
tx B
@ S =
tEjbILY é [cNm] 5 2
(YO0—RB 1=y h547) S paie |
Starting Torque Ratio 35 10 50 63 80 g+
(Closed type, Unit) 8 K
50 7 | 39 | 55 | 87 19 3 x
80 1.9 | 42 | 60 | 95 21 @
Eijjl\)[tat(; . 100 1.6 3.5 5.0 7.9 18 §
AR SEEREEDHEC AN EERZ 120 - 28 | 40 | 63 14
L L
RDDPILY 1 EAREIC L VERRR Y ETOT, BEETT, = =
(A%, AEER: 257C) # 2 APA A Ny —URR—URT Y Y T EQEERES Bo @
What is Starting Torque? i L& BPBEEINTLIEA, . %g E%I
Input torque needed for input side to start 1 For reference only. Torque value may vary depending L
rotating (no load, ambient temperature : 25°C) *2 Charts does not show effects due to rotation - %;ﬁ
resistance of bearings and oil seals on the input side. =
. [Nm] 3l
R E LY YA 3 B
(YO0—RHE 2=y () AL Size T
Output Starting Torque 35 42 50 63 80 es 3
(Closed type, Unit) 50 1.3 2.6 4.5 5.7 12 ]
80 1.9 4.0 6.8 8.6 19 |
EREE LI LT 100 | 21 | 44 | 75 | 95 | 2i SFEMA
HIABIN SEERS €5 5B DR A EEE 120 | - | 58 | 90 | 11 | 25 522 5%
LAHZ N LY A ERRHICL VENRBYETOT, BEETT, 1% 2
mEs . FERE:25° K2 ADAANY —WRIR—IUART ) Y T EQEERER ER -
(R MERE:25C) CEBHBIEEFNTLE A, T
What is Output Starting Torque? *1 For reference only. Torque value may vary depending =
Output torque needed for output side to start .on the condition. . FER
rotating (no load, ambient temperature : 25°C) 2 Charts does not show effects due to rotation 8 ff
resistance of bearings and oil seals on the input side. CER
83 &
= cNm ?
B — [eNm] :
e — S o 7y
7Y =Y T M7 MEL | g Sizd I
> o :{ —
(YO—ZE, 1=y A T) o 35 | 42 | 50 | 63 | 80 s 2
No-load Running Torque 500r/m|r1 3.1 5.1 11.2 13.7 26.1 % )IL
(Closed type, Unit) 5 1000r/min | 3.4 54 | 12.4 | 1562 | 28.6 § 5
— . o ps 2000r/min 3.6 5.9 13.6 16.9 31.3 ?D
%Eﬁ7/_/7 b)bat‘i 3500r/min 3.9 6.3 14.9 18.8 34.2 |
ERE CREZIEINDICHLER 500r/min | 43 | 7.7 | 84 | 156 | 286 B33 EA
ABBDRILY go |1000¢/min | 46 | 83 | 92 | 17.3 | 31.2 - %2%
(FHfE. BEER 25°C) 2000r/min | 5.0 | 89 | 10.1 | 19.2 | 34.2 SocEE
What is No-load Running Torque? 3500r/min | 54 | 96 | 111 | 21.4 | 37.4 ciz 2
Input torque needed to keep it 500r/min 29 7 4 95 142 20 5 s £
running with no load (average . — -
value, ambient temperature : 25°C) 100 LBy 3.1 8.0 105 16.7 24.6 g% qlﬁ
2000r/min | 3.3 8.6 115 | 175 | 26.9 22 )
3500r/min | 3.6 9.2 | 126 | 19.4 | 29.4 5 {E}Jg
500r/min - 6.1 | 92 | 124 | 263 5 5
1po | 1000r/min | - 6.5 | 10.1 | 13.8 | 28.8 &
2000r/min - 7.0 11.1 15.3 31.5
3500r/min - 7.5 12.2 17.0 34.5

A FERAFFICLVENEGY EFTNT, 2EETT,

W2 ATMAA AN —IPR—IUART ) v TEORERIIC L 2HEFE
INTWFELEA

*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of bearings

and oil seals on the input side.
FLEXWAVE WP>U—-X 26

ejeq sonsualorIRy)




27

Standard type A
BrME—4  Characteristics Data

TR (YO0—RB 1=y h A7)
Efficiency (Closed type, Unit)

BE (%] BRENLY | EFREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EEMNT—IDFHETT actual measurement.

H2 ADRA AL —WXIR—IAT Y T EDERR *2 Charts does not show effects due to rotation

EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-35-50 WPU-35-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 | o 1000 r/min
s 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 [ e 3500 r/min
2 2
o 70 © 70
L 60 o 60 /
§ 50 § 50 /
# 40 40 ////
30 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load & [%] Percentile Load
WPU-35-100
100
e 500 r/min
90 [ e 1000 r/min
s 2000 r/min
. 80 [ e 3500 r/min
e
o 70
o
= /
40 ////
30
20
10
0 20 40 60 80 100

&7 (%] Percentile Load



F1TA
Standard
type A
¢
S £ BRE
go
sz =
a2 T
== ES > —_— ° e ~
IR (YO0—RB 1=y 54 T) ~
Efficiency (Closed type, Unit) L
© =
g %
3 7
BE (%] C BRIV | EFREKNLY -Percentile Load (%) is equal to load torque divided by z x
allowable average torque. 2
N=| . o, ; =
FEEE : 25°C -Ambient temperature : 25°C %
. = = *1 These diagrams represent the average value of the
1 TS TEENT - OFHETT, A g
DA S ) — S — 571N - = : ] — =
H2 ADRA AN —WPR—ART YV TEDEIR 5 Charts does not show effects due to rotation gm)% 7
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28 ¥
25 M
29 =
CR 4
%
=
=} 8 E%ﬂ_
O = =
N
@8 =
- ==
EE
=
WPU-42-50 WPU-42-80 [p——
g‘% ) /Fﬁ]\
5=% BN
100 100 3;@ | &
e 500 1/min e 500 r/min g g}F
90 [ e 1000 r/min 90 [ e 1000 r/min S 8 &
e 2000 r/min e 2000 r/min 2 = T
80 [ e 3500 r/min . 80 [ === 3500 r/min g %
: : =
§ 70 § 70 éfé Y
= 50 £ 50 EN
# 40 # 40 / -
R R / ®
30 30 |
/4 B
20 20 % B
- I'\
10 10 S )L
0 20 40 60 80 100 0 20 40 60 80 100 “j i
[e)
&% [%] Percentile Load &% [%] Percentile Load S
(0]
)
[SES—
)
WPU-42-100 WPU-42-120 <58 %%F
=1 o RI
100 100 §§2 =
e 500 r/min 500 r/min g é
90 [ e 1000 r/min 90 7| e 1000 /min -
s 2000 r/min s 2000 r/min = —
> 80 | e 3500 r/min > 80 [ e 3500 r/min §§ Jr]E
8 70 g 70 / 52 %
2 & / o5 K
0 60 T 60 //// = ff
40 / # 40
30 30 g
(]
20 20 a
[3]
7]
10 10 g
0 20 40 60 80 100 0 20 40 60 80 100 5
A7 [%] Percentile Load B [%] Percentile Load

FLEXWAVE WP>1U—-X 28



29

L

Standard type A
BrMEST—4 Characteristics Data

TR (YO0—RB 1=y h A7)
Efficiency (Closed type, Unit)

BE (%] BRENLY | EFREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. - gl = *1 These diagrams represent the average value of the
% |5 — SZ 5 (E o
1 USTEEMT—YDOFHETT actual measurement.

H2 ADRAANY =R —IAT Y2 T S DEER *2 Charts does not show effects due to rotation

EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-50-50 WPU-50-80
100 100
e 500 r/min e 500 r/min
90 | = 1000 r/min 90 | o 1000 r/min
s 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 [ e 3500 r/min
o 70 o 70
o ///’-— E
= 50 = 50
# 40 / B 40 /
i /4 5
30 / 30
20 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&7 [%] Percentile Load &% [%)] Percentile Load
WPU-50-100 WPU-50-120
100 100
e 500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min e 2000 r/min
- 80 [ e 3500 r/min - 80 | === 3500 r/min
2 o — 2
o 70 @ 70
2 P — 2 _—
# 40 //// 40 ////
30 / 30
20 4 20
10 10
0 20 40 60 80 100 0 20 40 60 80 100
&% [%] Percentile Load & [%] Percentile Load



F1TA
Standard
type A
¢
S £ BRE
ge B
sz #
a2 T
h = M — ° e ~
IR (YO0—RB 1=y 54 T) ~
Efficiency (Closed type, Unit) L
SN
3
3 7
BE (%] C BRIV | EFREKNLY -Percentile Load (%) is equal to load torque divided by z x
allowable average torque. 2
N=| . o, ; =
Jﬁ@/ﬂﬂ}%—: - 25°%C -Ambient temperature : 25°C %
. = NN *1 These diagrams represent the average value of the
1 U STEERNT S DTEHETT, A g
S ) — S — 571N - = : ] — =
H2 AN AN =W PR—IART YV TEDEIR 5 Charts does not show effects due to rotation gm)% 7
EHICLDHEEEINTWIEEA. resistance of bearings and oil seals on the input side. 28 ¥
25 M
29 =
CR 4
%
=
=} g E%ﬂ_
O = =
N
@8 =
- ==
EE
=
WPU-63-50 WPU-63-80 sz @Al
TT D /r%]\
5=% BN
100 100 3;@ | &
e 500 1/min e 500 r/min g g}F
90 [ e 1000 r/min 90 [ e 1000 r/min S 8 &
e 2000 r/min e 2000 r/min 2 = T
80 [ e 3500 r/min . 80 [ e 3500 r/min ] %
: : =
§ 70 § 70 éfé Y
= 50 £ 50 EN
# 40 # 40 -
& /4 = A :
30 30 7 L
5 I
20 20 % B
- I'\
10 10 5 L
0 20 40 60 80 100 0 20 40 60 80 100 L‘j i
[e)
&% [%] Percentile Load &% [%] Percentile Load S
(0]
)
[SES—
ges B
WPU-63-100 WPU-63-120 258 %%ﬁ
=1 o RI
100 100 §§2 E”é.
e 500 r/min 500 r/min g é
90 [ e 1000 r/min 90 7| e 1000 /min -
s 2000 r/min s 2000 r/min = —
> 80 | e 3500 r/min , > 80 [ e 3500 r/min / §§ Jr]E
] -
3 70 T 70 // s E?
= = // SE B
i 60 / i 60 / %T {%L
£ 50 = 50 %
40 # 40 /
30 30 / 3
g
20 20 a
[3]
7]
10 10 g
0 20 40 60 80 100 0 20 40 60 80 100 5
A7 [%] Percentile Load B [%] Percentile Load

FLEXWAVE WP>1U—-X 30



31

L

Standard type A
BrMEST—4 Characteristics Data

TR (YO0—RB 1=y h A7)
Efficiency (Closed type, Unit)

BE%] - BRMLY | FEREKNLY

BAEEE : 25°C

1 U573 —YDFHETT,

M2 AFEIA ALY —IILPR =R T v T E D EER
BEHICLDHEIEINTVEEA,

WPU-80-50
100
e 500 r/min
90 | e 1000 r/min
@ms 2000 r/min
_ 80 | == 3500 r/mi%
e
© 70
L 60 /
= 50
% 40 /4
ey
30
20
10
0 20 40 60 80 100
&7 [%] Percentile Load
WPU-80-100
100
e 500 r/min
90 | cmmm= 1000 r/min
e 2000 r/min
_ 80 [ === 3500 r/min
2
o 70
O
L 60
= 50
¥ 40
R
30
20
10

0 20 40 60 80 100
&7 [%] Percentile Load

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the

actual measurement.
*2 Charts does not show effects due to rotation resistance of

bearings and oil seals on the input side.

WPU-80-80
100
500 r/min
90 [ e 1000 r/min
s 2000 r/min
- 80 s 3500 r/min
2
o 70
o
o 60
= 50
# 40
R
30
20
10
0 20 40 60 80 100
& [%] Percentile Load
WPU-80-120
100
500 r/min
90 e 1000 r/min
s 2000 r/min
. 80 { === 3500 r/min
e
o 70
°
L 60
= 50
# 40
EX
30 4
20
10
0 20 40 60 80 100

& [%] Percentile Load



High torque type B [griwo5 1 7B]

SRR Reducer Model Nomenclature

WP

C

35

50

CG|—|* *

V) -4 547 HA X B LE a—R* i
Series name type Size Ratio Code Specifications
WPYY—X C: IV Y o417 35 50 CG ANEEE
Component type
WP Series S :@HI=vbs(7 42 Input shaft
Simple unit type 80 SG d?ameter,
U:2zuho47 50 etc.
A=y AT (ATEHh)
2= 547 (Rzes) 63 100 SGH
Unit type
Input shaft unit
Hollow unit 80 120 SGJ
. - MO— REEM(S~HERE CHERBIZE L,
.W%?E Availability For the code details, please check
Ratio mz?tr‘\x the Dimensions Table.
Sy z2#L 50 | 80 | 100 | 120
GEJ 35
o 42
L
50
63
80
Al ASEN e .
SRR Reducer Specifications
2 %3 % 4 %5 %6 ®7
FFRER AR IR AR AT RS P N
. | BEL by by bavs AN Bl A B e
"j',’f A | Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input L
Size R*' torque torque torque input speed speed
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 7 23 46
35 80 10 30 61 3000 8500
100 10 36 70
50 21 44 91
80 29 56 113
42 100 31 20 143 3000 7300
120 31 70 112
50 33 73 127
80 44 96 165
50 100 52 107 191 3000 6500 10000
120 52 113 191
50 51 127 242
80 82 178 332
63 100 87 204 369 8000 5600
120 87 217 395
50 99 281 497
80 1563 395 738
80 100 178 433 841 3000 4800
120 178 459 892

A REZIN—YORICANTRELERHTZE WL
¢ 2 ABDEEREL 2000r/min OEFICHA T 2ERAME

¥ 3 EEH) - (FULRICHFA T DHKME

A FEENMERA LIRICHA T 2RAE

¥ 5 BEAICHAT 2P ANEGERORAE

¥ 6 BEHICEFA T D AN EEHORAKIE

7 ANEERE 2000r/min, FAER bV Y ARREOFF M

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.

FLEXWAVE WP>1U—-X

=N
91478

High torque
type B

suoneayoads
/ I3POI\l 199npay

(Bulleaq ulely) (Buleaq onse|3)

uonewnse oy

Jeys 1nduy
1B PEO| WNWIXep

Juswalinbal
2INIX1} JUBLWIYOBNY

suononsul Alquiesse

8|ge| suoisuswi(

uonewnse aj

(Weht) SR EbA | Cmme) ZRSH M

uolew.IoUl JUBDLIgN|

enbio] Bumiwsuel|

2INJoNJ1S U0N10aes Indu|

pue uone|esy|

32

TrF
| PHHEE b R

S S

ISR

Ny
7

[T

e
I 3 i

N ST




High torque type B [gr1vo5+ 78]

~FyEZFR Dimensions Table

HO0—XB AVRAVINIAT
Closed Type, Component

WPC-[1-01-CG

LE

LF LM
LH LG
HD cy
X N-oLU
4b< 2-LT
= -
—1 ) Q\,v
@1 , w(JS9)
gg N| o gg I CS? TN gg / A\
- vl n - (A (Vo ) o L A\
= R 1 MR . é\L _(”} /
& \ ’
! )
o) -0 <
47 e, BSH (H7)
st
SU 2-M3xk
. = BEE—XV b
E "j's’f Al Weight Moment of inertia
= e kg x10"kgm’
**:f’* 35 0.10 0.0383
E‘ 42 0.17 0.0855
INPUT SHAFT FOR 35842 °0 026 0.207
63 0.43 0.544
80 0.91 1.63
[mm]

*fsfzex IA | B|Llc| N |wW/|wo || || LtH|M|SG|SH]| S | w

35 44 38 50 8 3.5 M3 | 28,5 | 17.5 6 2 11 15.8 6 18.5 -
42 54 48 60 16 3.5 M3 | 325 | 20 65 | 25 | 125 | 158 8 20.7 -
50 62 54 70 16 3.5 M3 | 335|215 | 75 3 12 |1 248 | 12 | 215
63 75 67 85 16 4.5 M4 37 24 10 3 13 | 278 | 14 | 216
80 100 | 90 110 16 5.5 M5 44 28 14 3 16 | 278 | 14 | 236

gl o

YAR T | sU|SA|SB|SD| M |ST| S| HD|CA|CB|CX|CY|cz
35 | - | 25| 17 | 11 |235| 6 | 45 | M3 | 24 |cos5|co3| 17 | 1 | 38
a2 | - | 3 | 19102 ] 6 | 55| M3| 3 |cos|co3| 19| 1 | 45
50 |138] - | 24 | 16 | 32 | 8 | 55| M3| 3 |cos5|co5|205]| 15 | 53
63 | 163 - | 30| 20 | 40| 8 [ 65| mMa| 3 [cos|cos5| 23 | 15 | 66
80 | 63| - | 40 | 26 | 52 | 8 |88 | M5 | 32 |co5|co5|268]| 15 | 86

¥ 1 ADEREEMEIC OV TE, BIEHERIC TR TSV, *1 For details in the input section, please check the drawings.
¥ 2CX, CY, CZ (37 —ANEEHE~TETT . *2 Inner dimensions of CX, CY, CZ are recommended dimensions.

33



1=1001%2

941478
High torque
type B
g LB
8 & Bkk
go  pE
5z &
> — o £% I\
JO—XE A=y Y47 -
Closed Type, Unit
. = EBHE—X b g I
"j'sff7\ Weight Moment of inertia «3 %i
WPU- |:| = |:| -CG “e kg x10*kgm? é'
65 0.50 0.0377 g
42 0.68 0.0856 °
50 095 0.207 o
63 15 0.544 50 &
o2 &f
80 3.3 1.63 Eg W
LE 2s 4
LF LM = £
#h
LH |6 |k E
Y N-LU —— =
0-ring NoLT ga %
0-ring — ;z g”
j ar R ™~ 2 %é %
h c S5 =
. % ' W(Js9) ]
%S%mi @”gugi & Hj 1 ? %§%7
— \ N / 55
\ g &
e / 5 B
bl i T
-
o, 1o s @
Lt S 8
SuU 2-M3xk X SL ulull 5 B
E 2 Al
i 5
—o @ 2
o 3z m |
INPUT SHAFT FOR 35842 [mm] c8
=R
H4 2 22 B
Siye | LA LB LC LD N LT LU LE LF LG LH LK | LM | DB | SG £
85 65 56 73 31 8 M4 4.5 41 27 7 3.5 2 14 38 15.8
42 71 63 79 38 8 M4 4.5 45 29 8 4 2 16 48 15.8 g g
o E
50 82 72 93 45 8 M5 | 55 | 455 | 28 10 5 3 175 | 56 | 24.8 2 )f‘l/
63 96 86 107 58 10 M5 55 52 36 10 5 3 16 67 27.8 g 4
80 125 | 113 | 138 78 12 M6 6.5 62 45 12 5 3 17 90 27.8 &
i3
VAKX sH | SsL|w | T |SU|SA|SB|SC| M |ST|HD|CX|CY]|cCzZ g %
o i
85 6 18.5 - - 25 23 11 8 6 |M4x8 95 1.6 1 38 e =
42 8 20.7 - - 3 27 10 7 6 |[M5x8 95 1.3 1 45 %
50 | 12 |215| 4 |138| - | 32 | 14 | 10| 8 |Mex9 9 | 15 | 15 | 53 53 x|
63 14 21.6 5 16.3 - 42 20 15 8 M8x10 12 3.4 1.5 66 %;z) g
=S 17
80 14 | 23.6 5 16.3 - 55 26 20 8 [Mi0Ox12| 15 52 1.5 86 §§ a
¥ ADEEMCOVTUL, BIRTERICTREZR TSV, *1 For details in the input section, please check the drawings. %

2 CY. CZ I3 —2ANEEHESRE~HETY, *2 Inner dimensions of CY, CZ are recommended dimensions.

FLEXWAVE WP>1—X 34



High torque type B [gr1vo5+ 78]

~FyEZFR Dimensions Table

A—TVE BB NI4T
Open type, Simple unit

R = BHEE—XV b
"fS’f Al Weight Moment of inertia
WPS-[1-[1-SG - kg x10kgm?
35 0.39 0.0391
42 0.55 0.0870
50 0.79 0.209
63 13 0.549
80 27 1.65
LE
LF LM
SC LJ LH
M-6ST LG
Yy
N-LT
o~
S
wiJs9)
CV h S— ™
== N 3| = } t
£l ZEl = VaARIERS H{
28| MRS i
P — \L..
& {gﬂi #SH (H7)
RIRY \@f
sU 2-M3xk < sL A -/"b\‘
SN F X
E o eouay P s20eaual X
4. \ . ! | [ !
i @ W A xS
1 @ \‘ 4 ‘
— \T'X \‘1\‘%*’{‘
‘B‘ “N-LT" “N-LT"
INPUT SHAFT FOR 35842 ARRANGEMENT FOR 35 ARRANGEMENT FOR 42
[mm]
*7“&42 e7\ IA|LC | LE|LF|LG|LH| LW |M|sg|SH|sL|w]| T |su|sa|sB
35 | 44 | 50 | 285|235 6 | 7 |141| 5 |158| 6 |185| - - | 25| 64 | 48
42 | 54 | 60 |325|265|65 | 75| 16 | 6 |158| 8 |207| - - | 3 |74 ] e0
50 | 62 | 70 |335| 29 | 75 | 85 | 175| 45 |248 | 12 |215| 4 |138| - | 84 | 70
63 | 77 | 85 | 37 | 34 | 10 | 12 |187| 3 |278| 14 |216| 5 |163| - | 102 | 88
80 | 100 | 110 | 44 | 42 | 14 | 15 |234| 2 |278| 14 |236| 5 |163| - | 132 | 114
AR sc|sD| M | ST |CA[CY|CZ|cCVv |CW| N LT
35 |24 | 70 | 8 | 35|C03| 1 |38 | 16| 31 | 8 |[M3x5,¢35x6
42 | 3 | 80 | 12 | 35 |C03| 1 | 45 | 2 | 37 | 16 M3x6, ¢ 35x65
50 | 3 | 90 | 12 | 35 |C03| 15|53 | 2 | 44 | 16 M3x6, $35x75
63 | 33 | 110 | 12 | 45 |C03| 15| 66 | 2 | 56 | 16 |M4 x7, ¢ 45 x 10
80 | 36 | 142 | 12 | 55 |C0o5| 15| 86 | 2 | 72 | 16 |M5x8, ¢ 55 x 14

1 ANEFMIC DL TR,

35

BERTERIC THERRT S UL,
#2CV, CW, CY, CZ 37 —AANEEHEEE~HETT,

*1 For details in the input section, please check the drawings.
*2 Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



FA—TVE A=y oA T (FZE)
Open type, Unit (hollow shaft)

. = EBEE—X Vb
ﬂ—S/f Al Weight Moment of inertia
WPU- ] -[1-SGH - kg x10"kgm?
85) 0.57 0.103
42 0.79 0.230
50 1.1 0.460
63 1.7 1.24
80 3.4 3.18
LE
LG LF LH
L LK L
t=-
Lo
35U
4+
Ki f{’ﬁ\x
fa/ 2EQUAL) T_16/20 EQUAL ‘(
I / ; !
P ‘ /‘ & *
\#_X L /{‘
INPUT SHAFT FOR 35442 ARRANGEMINT FOR 35 ARRANGENENT FOR 42
[mm]
"j‘STEeZ LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
85 44 36 54 70 525 | 205 12 20 7.5 8 9 2.5 55 6.5
42 54 45 64 80 56.5 23 12 21.5 8.5 8.5 10 2.5 55 6.5
50 62 50 75 90 515 25 5 21.5 7 9 10.5 - - -
63 77 60 90 110 55.5 26 6 23.5 6 8.5 10.5 - - -
80 100 85 115 142 65.5 32 7 26.5 9.5 12 - - -
YAX| sa | sB | sc | sSD| SE|SF| M |ST|su| N LT
89 64 - 14 20 74 36 8 3.5 M3 8 M3 x 5, ¢ 35 x 11.5
42 74 - 19 25 84 45 12 3.5 M3 16 M3 x 6, ¢ 3.5 x 12
50 84 255 21 30 95 - 12 35 M3x6 16 |M3x6, ¢ 3.5x%x 135
63 102 33.5 29 38 115 - 12 45 M3x6 16 |M4x7 ¢ 45x%x 155
80 132 40.5 36 45 147 - 12 55 M3x6 16 |M5x8, ¢ 55 %205

FLEXWAVE WP>1—X

BV
9147B

High torque
type B

e
Xl

| BHHE

suoneoloads
/ [opo J8onpay
i

S ¥

a|ge] suoisuawiq

(Buleaq onse|3)
uonewnse o)

(Bulleaq ulely)
UOIBWINS® 847
I

1eys indul
18 PeO| WNWIXe\
MBS STt > ‘ (M=t ) NI

——.
I i

uolewIoyul Jueougn|

Juswalinbal
2INIXI} JUBIYOBNY
Wﬁﬁ%‘

N ST

anbJo| Bunwisuel|

ﬁﬁ¥&>‘

2INJoNJ1S U0N10aes Indu|

S5 A

suonon.sul Alquiesse
pue uone|jeisy|

36



37

i

High torque type B [gr1vo5+ 78]

~}3yE3ZR Dimensions Table

F—TVE A=y NyA T (A1)

Open type, Unit (input shaft)

WPU- [1-1-SGJ

"jég e7: Weijt ’]ﬁl%n;&nt of)i(ne/rtig
kg x10*kgm?
B 0.48 0.0376
42 0.69 0.0897
50 1.0 0.208
63 1.6 0.554
80 3.2 1.74

LE

LG LF LH

LJ

LL LK

M-gST
/\(2/ ! ‘\ﬁ\\
7)1/’ | N LR
SC sV gog La
|/I = N =| @ ( = =
(@} = H
P = ] S| & A3 <
> o / (
| 2
NE | e ’
. b B
Lp
Q;L HE} ,—4‘\‘\ l{'TN}"
fsmgaum'\ P we0poual ¥
Sl 05 Vo / : ! 5
. x" X
= T \‘14*
INPUT SHAFT FOR 35342 ARRANGEMENT FOR 35 ARRANGENENT FOR 42
[mm]
-'j-STLeX LA LB LC LD LE LF LG LH LJ LK LL LP LQ LR
g5 44 36 54 70 50.5 | 20.5 15 15 2.5 8 9 11 - -
42 54 45 64 80 56 23 17 16 3 8.5 10 12 - -
50 62 50 75 90 63.5 25 21 17.5 3 9 10.5 - 16.5 20
63 77 60 90 110 725 26 26 20.5 3 8.5 10.5 - 22.5 25
80 100 85 115 142 84.5 32 26 26.5 5 9.5 12 - 22.5 25
YAX| sa | sB | sC | SE| SV |[Sw | M | ST |SU| N LT
& 64 6 - 74 - - 8 3.5 - 8 M3 x 5, ¢ 3.5 x 11.5
42 74 8 - 84 - - 12 3.5 - 16 M3 x 6, ¢ 3.5 x 12
50 84 10 8.2 95 3 3 12 35 M3x6 16 |[M3x6,¢ 35x%x135
63 102 14 11 115 5 5 12 45 M3x6 16 |[M4x7, ¢ 45x%x155
80 132 14 11 147 5 5 12 55 M3x6 16 |[M5x8,¢55x205




Eanet = (REIMEERSE) Life estimation (Elastic bearing)

HEEZFamaTE

Life span for the elastic bearing

N EEm Y-V

Operation cycle example

T, | i
&by | T, |
Working torque } T, ! T,
| FEfE
| | Time
ny L N3
H A EIER 2L &
Output rotation
sligjegg | bt b Y ‘ R<FfE
Time

OFHED bLY - BEREA ML DET

Calculation formula for output torque

SEHED LY

Average output torque

Tao

Nm

oo P | T | T e ] T
net,+n,ctyeeen ot

n n

=AHS LD

Peak output torque value

Tmo

Tmo = 7—/, 7—2, o0 7;, O)EEij({E
Tmo = Largest among Ty, Ty, = T,

BRAED LI DHBEARENUT THD e 2 THEETEW

Please make sure the peak output torque is below the maximum output torque in the specification table

QFH AN EERE - S ANEEHOHE N
Calculation formula for mput speed
SEigH A [EER L . Nt En,cteeen, ot
o nao | r/min nao=
Average output rotation speed t+ bt et it
e EER L nmo | r/min nmo =n;, n, - n, DEXIE
Peak output rotation speed nmo = Largest among ny, ny, *** n,
G A ElEREL - : - . -
Average input speed nai | r/min  nai=nao x R (R=ig&LL) (R=ratio)
= AN ElEREL ; ; - . - rati
Peak input speed value nmi | r/min  ami=nmo x R (R=E&EL) (R =ratio)

EeANBREHI’HAERSANREGEHA T THD L2 CHERTIW

Please make sure the peak input speed value is below the maximum input speed in the specification table

QF A DETE

Calculation formula for life span

BT SR _ Jar \% [ nar
Part life span for the elastic bearing Lz 2 Lhe = 10000 x Tao nai
TEM MILY Tar | Nm | TEREROFFATEM bLY
Rating torque Nominal output torque in the specification table
TERE AT EIRREL ; i
Rating input rotation speed nar r/min | 2000 r/min

FLEXWAVE WP>1—X

=N
91478

High torque

type B

suoneoloads
/ 18P0\ 18onpay

a|ge] suoisuawiq

uonewnsa oy

(et ) SIR2PEDM | (pEEe ) SRR Eh

(Buneaq onse|3)

(Bulleaq ulely)
uolewnse o)

Jeys 1nduy
1B PEO| WNWIXep

uolew.IoUl JUBDLIgN|

Juswalinbal
2INIX1} JUBLWIYOBNY

anbJio| Bumwsuel|

ainjonJis uonoes Induj

suonon.sul Alquiesse
pue uone|jeisy|

38

S

e
Xl

| S b B

S ¥

ISR

Ny
7

[T

e
I 3 i

NS

I 2 >




High torque type B [gr1vo5+ 78]

FEaetE (EHF) Life estimation(Main bearing)

N EEHRAR(VOAO—J8%) Main bearing specification(Cross roller bearing)

JONEYFAE |77ty bR | EABEREE | EABEREE | FFAE—X Vb | £—XV MElE
- 4 4 | Pitch circle diameter Offset Basic dynamic |Basic static load |  Allowable Moment
) . | of the bearing rollers load rating rating moment rigidity
Series Size
Dm L C Co Mal Km
m m N N Nm x10*Nm/rad
85 0.0335 0.0088 5620 6540 36.5 7.35
42 0.0410 0.0098 6340 8170 55.8 8.02
WPU-[J-[1-CG | 50 0.0485 0.0098 10400 13300 91.0 13.5
63 0.0620 0.0108 15800 21100 156 27.7
80 0.0815 0.0128 24400 35600 313 66.0
85 0.0505 0.0162 7110 10200 74.0 14.4
42 0.0598 0.0180 10900 15200 124 19.7
WPS-[1-[1-SG | 50 0.0708 0.0194 17200 24700 187 40.1
63 0.0856 0.0234 25100 37400 258 71.5
80 0.114 0.0292 43300 67600 580 188
85 0.0505 0.0217 7110 10200 74.0 14.4
WPU-C1-01-SGH 42 0.0598 0.0235 10900 15200 124 19.7
R 50 0.0708 0.0254 17200 24700 187 40.1
WPU-[]-[1-SGJ
63 0.0856 0.0289 25100 37400 258 71.5
80 0.114 0.0357 43300 67600 580 188
FEZF A |
Life span for the main bearing Fr, |
Fr, !
B/ Y —Y SUTNHE | L
Operation cycle example Radial load ! Fr, _?Ef;ﬁ
Fa,
Fa,
TF¥FUYILEE Fa,
Axial load Fa, E%FEﬁ
! Time
N 2 N3 i
i Bl 2  "\Un
Output rotation : FEfE
speed ol [t 4y ‘ Time
W AV EREfar
External load L
Lr L L L
I L = S L — £ ]
Fr I 1
@ ] w £ 3 r E| I
,J‘ (=] (@] L [a] [
3 LFa g J J
= i i

39




DREAKERmE—XVIDEH

Calculation formula for the largest working moment

?ﬁ(ﬁﬁf?&—%‘/ > Mm | Nm  Mm=Frm - (Lr+L)+Fam - La

eak working moment

BARZ VT IR Frm N Frm = Fr,, Fry === Fr, OBKIE
Peak radial load Frm = Largest among Fry, Fry, - Fr,

BRRT F 4 ILE Fam N Fam=Fa,, Fa, - Fa, DEKIE

Peak axial load

Fam = Largest among Fa;, Fa,, --- Fa,

BARERE—XAVIMERE—XVIMITTHIZLECHER TN

Please make sure the peak working moment is below the maximum allowable moment

QFH SV TIHE - TFVvILEE - FHENRER - FHERE— XV OEH

Calculation formula for the Average radial load, Axial load, Average output rotation speed,

Average working moment

S O T ILEE

_ fra | N Frac®) metelFrl Y bl e 1t |
Average radial load npet,+nystbeetn t,
o . 10 10 10
‘T‘F‘iﬁ—F:\—_"/’\”)l’ﬁfE Faa N Faa— Y| ™M tw’lFawl /3+I72- t2°|F32| /3+'"+ My t”'lFaﬂl &
Axial load nw.t1+n2.t2+...+nn-tn
g EEREL Nty 0, teeen, -ty

Average output rotation speed nao r/min

nao =
t+ b+ et t,

Wiﬁﬁﬁ%—)(‘/ l\ Ma Nm

Average working moment

Ma=Fra-(r+Ll)+Faa-la

QRERIM -BEM>Y 7 IILHREOHEH

Calculation formula for the Loading factor, Equivalent radial load

Faa

=15nHE. Xc=1.0, Yc=045
Fra+ 2Ma /Dm

TERE
Loading factor Xc, Yc =
Faa > 1.5mn%B4E Xc=067, Yc=0.67
Fra + 2Ma / Dm
BEM> 27 ILAE Pc N Pe= Xc- (Fra + 2Ma/Dm) + Y - Faa

Equivalent radial load

@DEWMROFaFHEOTE

Life span for the main bearing

RS AR the |

Life span for the main bearing

10°
60-nao

C
fwe Pc

Lhec =

1.0 . HEEZHEDLLTWEGE no shock

EERRK

Impact factor

1.2 ZHOOERE#SHS  with some shock

1.5 IREMEEZHOHE with shock and vibration

FLEXWAVE WP>1U—-X

=3
91478

suoneoloads
/ [opo J8onpay

(Buiieaq urepy) (Bulesq onse|3)

uonewnsa oy

Jeys 1nduy
1B PEO| WNWIXep

Juswalinbal
2INIX1} JUBLWIYOBNY

suononsul Alquiesse

8|ge| suoisuswi(

uonewnse aj

(b ) SRR I | CdEEeR) SEELID

uolew.IoUl JUBDLIgN|

enbio] Bumiwsuel|

2INJoNJ1S U0N10aes Indu|

pue uone|esy|

40

S

High torque
type B

e
Xl

| PR

S S

ISR

Ny
7

[T

e
I 3 i

N ST




41

L

High torque type B [griwo5 1 7B]

ATENDEFRTE Maximum load at input shaft

W EZ AR (F—T VB, 22y 94 7) Bearing specification (Open type, Unit)

NT7YvTA 7YV B
Bearing A Bearing B
== HAZ| BEAREBERTE AR EMTE HABEMTTE FAB T a b
Series Size | Basic dynamic load rating | Basic static load rating | Basic dynamic load rating | Basic static load rating
C Co C Co
N N N N mm | mm
86 4000 2470 4000 2470 16 27
42 4300 2950 4300 2950 16 31
WPU-[J-[J-SGH| 50 4500 3450 4500 3450 145|275
63 4900 4350 4900 4350 15.5 | 30.8
80 14100 10900 5350 5250 19 | 37.0
85 2240 910 1080 430 24 | 215
42 2700 1270 1610 710 27 | 235
WPU-[]-[J-SGJ| 50 4350 2260 2240 910 315 | 26
63 5600 2830 2700 1270 375 29
80 9400 5000 4350 2260 39 | 385
7YV TA RF7YVITA
Bearing A — ] . Bearing A — ] . .
’ ~RFYVHB ° RFYYYB
\P Eifﬁj Bearing B \i B Bearing B
& B 1
a b a b
W AT E (P ANEERE: 2000r/min, F4aE$R : 10000h)
Maximum load (Average input rotation speed : 2000r/min, Life span : 10000h)
WPU-[]-[J-SGH WPU-[1-[1-SGJ
800 35 500 35
\ —_—42 — 1)
450
700 \ e 50 \ 50
400
=, \ e 80 Z 350 \ e 80
N 500 — 300
L \ L \
] 400 WY 250 \
*'SE‘U 300 N\ \ #SE‘U 200 =0
R § ——— \ \ l: (:8 150 \ \
N a IN o
100
N~ N~ 50 NN\
0 T T T 1 0 T T 1
0 100 200 300 400 0 100 200 300
THFUYILETE Fa [N] TV ILFEE Fa [N]
Axial load Axial load




=197
91478

High torque
type B

SEYBE lubricant information g7
5z
> 7 % I\
FERIV—X -
Grease |
o <
237w ZSFB No. 1 (858 BFIE A %) Sumiplex SFB No.1 (SUMICO LUBRICANT CO., LTD.) 3 1
[FREESHE : 0~40°C (BHEEE) Operating temperature range:0-40°C (ambient temperature) S =
oy
JV—RE&Mm a5 & |
Grease application 3 iﬁr
. s PN N o5 &l
PUF @Y, BoEE RIS —2ZRH L TFEW, Please apply grease according to the table below. gL =
EE
SR
W J)—RBME Grease application %
-BIECIEOBREOR FTESZ (HAORNERE, LME. TRE) ICKUBHTEZEEL TS, =5 B
(=R ABZHDLIZY bIAT(Z. CHERZT) DTY—RENTEINTVET,) §%§$
- AHASSY ~4 — ZANEECZERIN50% DT -2 EFHELTFEL, 2 E
T —AFEHC KV T —ADAR R T 2HEF EHEFTHEVEHOELZEL, (9] N %
-The qL_Jantity of grease applied to C shopld BT Applied part =
be adjusted depending on the mounting HA4Z c c c s A
direction. St 2 h
C of the unit type product is already A B H(*ﬁréq%}) (Emz) | (FAZ) D o B
. . : orizontal | Vertical up | Vertical down S))
filled with the same quantity of grease as ;—“ #
horizontal mounting. 35 0.3 0.3 6 8 9 0.3 2 B
-50% of the space between input assy 42 0.5 0.5 10 12 14 0.5 5 1
and CaSiﬂg inner wall should be filled with 50 0.8 0.8 16 18 21 0.8 a B
grease. S
-If the amount of grease is not sufficient 63 1.5 1.5 30 35 40 1.5 ER
due to case design, please contact us. 80 3.0 3.0 60 70 80 3.0 s #l
. . g
W JY)—2BRHEER Grease application location 3
:
| WPC-1-[]-CG | | WPU-[1--CG | | WPS-[1-[1-SG | o
, 8 i
o %CBD }E
= A A % B
C
g g g ¢
BN
| )
5
ys 5
Casing
E?SOZGE& TEDSOXETIE - - |
Fill 50% of the gap in volume =2 8 A
=
E g |:||-S
s 1B
L | ;&
‘ 27 X |
! 32 =
| c2 =
U1 R
-2 B0 50%E FH 5

FLEXWAVE WP>1—X 42



43

M

High torque type B [gr1vo5+ 78]

EN{~T¥5 B Attachment fixture requirement

B BT E Attachment fixture requirement

| WPC-J--CG |

[L] o [A L[ e o
L] 2 [A
; =2
r
Casing m Input
T—A 3 section
3 Ahs
@ 3 (S
k: 5 K
Output ° 83 g -+ -
w2
L[ b A w V// v /
) %,
BfHEE [mm]
YA X
ks 35 42 50 63 80
a 0.015 | 0.015 | 0.018 | 0.018 | 0.023
b 0.010 | 0.012 | 0.014 | 0.016 | 0.020
c 0.013 | 0.013 | 0.015 | 0.018 | 0.020
d 0.015 | 0.015 | 0.018 | 0.018 | 0.023
e 0.015 | 0.015 | 0.018 | 0.018 | 0.023
f 0.012 | 0.012 | 0.014 | 0.016 | 0.016
g 0.016 | 0.020 | 0.024 | 0.024 | 0.024
| WPU-1--CG | | WPS-[-01-SG |
©f ¢v A
L] 2 A s
Casing
Z e, L2 A
. AN
|2 £3 2
._.j ﬁé% xe ﬁ
= L[ oA L] 4 A
/
[ [’
) ]
7 |
TR [mm]  EfHEE [mm]
YA X Y4 X
ek 35 42 50 63 80 o 35 42 50 63 80
a 0.020 | 0.020 | 0.020 | 0.025 | 0.025 a 0.025 | 0.025 | 0.025 | 0.030 | 0.030
b 0.012 | 0.012 | 0.014 | 0.016 | 0.016 b 0.020 | 0.020 | 0.020 | 0.025 | 0.025
c 0.016 | 0.020 | 0.024 | 0.024 | 0.024 c 0.020 | 0.020 | 0.020 | 0.025 | 0.025
d 0.012 | 0.012 | 0.014 | 0.016 | 0.016
e 0.016 | 0.020 | 0.024 | 0.024 | 0.024




=N
91478

High torque
type B

— L
1= NIV Transmitting Torque £7
O c PRI1Ix
58
sz H
N 3 g T
NIV MERA .
Bolting |
. . o -
RILEOFER MILY X TFERDBYTT, 3 _i
IV NAEORE A MLO (S TURERTRER ML A RBRUET DO TIEE TS, g =R
Please refer to the table below for the bolt tightening torque. g
Please be noted that the transmittable torque varies depending on the bolt count (different between CF and CN) ©
and tightening torque.
s F
iy W
> gg E
RV NEEE R ILY iz
Tightening torque for bolts 8 i%
RILEHA X |Boltsize M3 [ M4 | M5 [ M6 | M8 [Mi0 HEZEAILL : BBERS 12.9 BlE =1
R R Lo [Nm]|Tightening torque | 1.9 | 43 | 87 | 15 | 36 | 71 Recommended bolt : =5 %
Strength rating above 12.9 o& =
25 &
é8s T
i@
(TENILY (YO—ZB 2=y 947) =
Bolt specifications and Transmitting torque (Closed type, Unit) 35 %
» 3
HH 75V BT Output flange attachment 23 ?%
4 X Size 35 42 50 63 80 2 i
AL A X Bolt size M4 M5 M6 M8 M10 B %
AL b AR Bolt count 6 6 8 8 8 |
uff PCD _[mm] |Bolt PCD 23 27 32 42 55 : ®
Bt b [Nm] [Tightening torque 4.3 8.7 15 36 71 g &
{=2 bJLY [Nm] |Transmitting torque 56 106 238 566 1177 5
3
AV FILFVEST (CG) Internal gear attachment %’
PR Size 89 42 50 63 80
AL A4 X Bolt size M4 M4 M5 M5 M6 gg By
S Bolt count 8 8 8 10 12 st 8
Bxft PCD_[mm] |Bolt PCD 65 71 82 96 125 38
#E hJLs [Nm] [Tightening torque 4.3 43 8.7 8.7 15 g
{mZE FJLY  [Nm] |Transmitting torque 210 230 430 629 1392 3
1> 2 F IV XV ET 3 =
Internal gear attachment N\—— g J%
2
e E 9
my g
___l_ 3z A
$H7 5 UE -]
Output flange 8 ;'%[g
attachment S i
- 1 _ - 2 =
=2 ]

FLEXWAVE WP>1—X 44



M

High torque type B [griwo5 1 7B]

{=ZENILYG Transmitting Torque

EEENILY (UO0—ZB avKRY RAT)

Bolt specifications and Transmitting torque (Closed type, Component)

T Ly AFVEUT Flex Gear Attachment

b4 X Size I35 42 50 63 80
AL HAX Bolt size M4 M5 M5 M6 M8
RIL b AEK Bolt count 6 6 8 8 8

Efst PCD  [mm] |Bolt PCD 17 19 24 30 40
#EF b L2 [Nm] [Tightening torque 4.3 8.7 8.7 15 36
{Z FJLY [Nm] [Transmitting torque 41 75 126 223 539

A5 FILFVYEA (CG) Internal Gear Attachment

b4 X Size 85 42 50 63 80
RIL A X Bolt size M3 M3 M3 M4 M5
RIL b ASK Bolt count 8 16 16 16 16
Bft PCD  [mm] |Bolt PCD 44 54 62 75 100
#54F bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7
f=Z IS [Nm] |Transmitting torque 82 200 230 485 1048

42" F )LV EfT

Internal gear attachment

- - 2

JL w7 R EfT

Flex gear attachment

OV IRMIEN Reinforcement

Ly AF VRN OGEZEN D EREZB-ITWGEIE. EVDOFREZPEWLLET,
EvldA 7o avCEMAIEETT,

Pins can be added if the transmittable torque at the flex gear interface is not sufficient.
As an option, holes can be added.

Thru hole for pins

[N

Forcing tap

WP-35, 42 WP-50, 63, 80

45



[=101%4

941478
High torque
type B
L3 LB
8 & Bkk
ga I
5z &
7 é =
KJ;_ NILG (A—7F v 8Y) -
Bolt specifications and Transmitting torque (Open type) I
g =f
3 .
7Ly AFVEUT Flex Gear Attachment % %
Y42 Size 35 42 50 63 80 2
RILbHA X [Boltsize M3 M3 M3 M4 M5 &
RIL b AEK Bolt count 8 12 12 12 12
Bt PCD [mm] |Bolt PCD 64 74 84 102 132 —
#EF b L2 [Nm] [Tightening torque 1.9 1.9 1.9 4.3 8.7 @f ?ﬁ
{=ZE bJLY [Nm] |Transmitting torque 119 206 234 495 1037 g’% =+
g7z ®
A VHFILFVEUT Internal Gear Attachment 8’ E
HA X Size 85 42 50 63 80 %
AL YA X Bolt size M3 M3 M3 M4 M5 s = |
RIL MRS Bolt count 8 16 16 16 16 %g 5
Egff PCD  [mm] |Bolt PCD 44 54 62 77 100 g5 %,_t
#54F bJLs [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 as =
{=ZE bJLY [Nm] |Transmitting torque 82 200 230 498 1048 gim
35 A
EX P
22
B i — =2 D
] A2 7 F )L X Eft g ﬁ
_% Internal gear attachment 9 1%—
JL v R XYy Eft 1 =
Flex gear attachment | {5 c om0
5 /A
= Al
3z W |
Ly U RAEVEM  Ee—— A2 2% R < a
Flex gear attachment \ \—ﬁ;/ Internal gear attachment S% JE
O3 X
i 3

|
T
I
I
I
T
I
I
|
[
anbJio] Bumiwsuey
Sxa i

— 1
e A2 2FILF Y Ef A
2Ly o REYE L Y Internal gear attachment s 7
Flex gear attachment AN A o e s s g #
3 s B
%) =

1 ||

suonon.sul Alquiesse
pue uone|jeisuy|

FLEXWAVE WP>1U—-X 46



47

S

High torque type B [griwo5 1 7B]

AFEZRFEE Input section structure

ATEBDIEE

Input section structure

ANEEEZ R T4V 547 (BEROEE) LUV Y RIATH BV ANNBEZFICIVRBUET,
FMETERICTHERR TS,

There are two types of input section structure, spline type (self-centering feature) and rigid type.

W RATS5405947 (BBIERDHEE) WUy REAT
Spline type (self-centering) Rigid type
— — S _
N LINESTIE

Cam hole diameter
NDLNRBETEFERETHENARETT , TROBENRZRTEZUTOHEE AT AV 54T EERF
~BRRKNEOSHHI) Y RIATERVFET, FROSBENDOTENVBELRGEE. BWEHETIL,

The diameter of the cam opening is customizable. Holes smaller than the 'standard hole size' in the table will be
built in the spline type. Holes equal to or larger than the 'standard hole size' and smaller than the 'maximum hole
size' will be built in the rigid type. Please contact us if you need sizes outside the specification in the table.

H v
51 Ls~ti%& Cam dimension [mm]
T4 X
Size 35 42 50 63 80
RIEE 6 8 12 14 14

standard bore size

BARINEV
maximum bore size 17 20 23 28 36

BNEE H
minimum thickness 6 7 8 9 11




=N
91478

High torque
type B

S = . . . .
SERERIR Installation and assembly instructions fium
S8 1%
5z #
28 XN
AT+ I8 D3 HF (WPC-0-0-C6) -
Shaft installation instruction |
—_ . —— ~ — . g N
AFE- O8I BT 25U T EE - PRV LT EE R T EOBELL TS, !
(FRIZBZH) g X
ALICIEBEEABD SN RS A MTEIMERALET . LD B A EICEIDEVE D BELTFEL, ;f;
Please design the support structure for input shaft and output shaft so that both radial and axial loads are °
supported. (Diagram below shows an example) |
Inside thrust load has effect on the cam. Secure cam from the possible axial movement. ms &
H 7% 58 =
Output shaft AF 3~
Input shaft %
O[Ol 2 & |
< gt =B
_ ) { I 4 g2 =
L 1
Rl bﬂﬁ“ < i
) - SF A
1 L h L Sx 7
) G 22 B
am 55 o
2 A
p 2
]
=
EX f+F ~F 3% (WPC-01-[0-CG) BEE AR
Attachment flange requirement 8 %ﬁ
Ty AX VP EETDIRMA 7SIV VI 7Ly I AFVPREIER LD g
. FROTEETFOTTFEL,
For the attachment flange that comes in contact with flex gear, please -
build the corner radius according to the table below, in order to prevent s> w |
damage. L |1 o cE ?Eﬁ
) a1
EE:"I:j_' T " gi -3
o 35 42 50 63 80 3
D 245 29 34 42 55 :
R 1.2 1.2 1.4 1.5 2 ECEE
s L
Sy
2 A
s A
g Ep
s
58 %
ssS 1|
28

FLEXWAVE WP>1—X 48



49

Flat type D

SRR BT Reducer Model Nomenclature

WP

U

—| 35 |—| 50 |—| CD

V)4 947 Y4 X BELL a— R~
Series name type Size Ratio Code
WP U—X C:2vRxybsA47 35 50 CD
Component type
WP Series S 42 80 CDH
Simple unit type 50
U:21=vbo47 100 SD
2=y NoA T (FRZedh) 63
Unit type
Hollow unit 80 120 SDH
HO—REEMIETIERE SRS,
Ju Hahili For the code details, pl heck
OHER Avallability the Dimensions Table,
Ratio matrix
N BOR L
Mysz 50 80 100 120
g 35
o 42
L
50
63
80

SR AR Reducer Specifications

x4 %5 X6 K7
‘ HFAER HFARK ERERRA AT HFARE = A RER
. | BLEEL % by by AN EEEEK AN EEEEK
-'j-./f A | ‘Ratio | Nominal output | Maximum output | Emergency stop Nominal Maximum input Lif
Size R*! torque torque torque input speed speed e
[Nm] [Nm] [Nm] [r/min] [r/min] [hours]
50 3.7 12 24
85 80 5.4 16 29 3000 8500
100 5.4 19 31
50 11 23 48
80 15 29 52
42 7
100 16 37 55 3000 300
120 16 37 55
50 17 39 69
80 24 51 75
50 100 28 57 76 8000 6500 7000
120 28 57 76
50 27 69 127
80 44 96 147
63 100 47 110 152 8000 5600
120 47 110 152
50 53 151 268
80 82 212 334
4
80 100 96 233 359 3000 800
120 96 233 359

A RMEZIN—YORICANTRELERHTZE WL
¢ 2 ANEEREL 2000r/min DEFICHA T 2ERAME

¥ 3 EEH) - (R T DRKME

WA FHEENMEA LIERICHA T 2RKAE
¥ 5 BEAICHAT 2 TPHANEGERORAE
¥ 6 BEHICHFAT D AN EEHORAKIE
7 ANEERE 2000r/min, FAER bV Y AREOFHEH

*1 Reduction ratio is to be calculated by the formula in the previous page, using R value in this table.
*2 The maximum allowable value at the input rotation speed of 2000r/min

*3 The maximum torque when starting and stopping.

*4 The maximum torque when it receives shock.

*5 The maximum average input speed.

*6 The maximum input speed.

*7 The life time at the input rotation speed of 2000 r/min and nominal output torque.



R
947D

Flat type D

~FyE3R Dimensions Table 23 {35
BE i
g8
== &

> ~ o, N o §§ :_Et
oO0—X8 OVRRVNYAT . £  [BHE-—XUF 2 <

Cl dT C "j'S’f7\ Weight Moment of inertia

osed Type, Component ize " e —
35 0.062 0.0226
WPC-[1-11-CD 42 0.10 0.0565 2 3
50 0.16 0.113 § =
63 0.26 0.342 2
80 0.57 1.18 &
LE
LF LG %ﬁ%#?ﬁ
HH L) giaiﬁ
= sesaral
ws s £8% %z
227 xE
—~ : -2
[B E =
S2| “GEH s 533 ST EAl
) ) ) o~5 /B
b H =y | 222 s
9 Ik 572 D
z 2 A
5 ]
=
8% -
X L
SE W
s f
33 %
52 K
;|
3 =
ERNN
5 [mm] g
ﬁgéé‘ LA | LB LE LF | LG | LH LJ LK N | LT 57
35 44 50 11 6.5 45 1.4 - 0.3 6 3.5 . M3 ’
42 54 60 125 | 75 5 1.7 - 0.3 8 35 . M3
50 62 70 14 8 6 p) 3.3 0.3 12 35 6.5 M3 53 0 |
63 75 85 17 10 7 2 3.3 0.4 12 35 6.5 M3 2% =
33 1|
80 100 | 110 22 13 9 25 4.4 0.5 12 45 8 M4 ]
tggg: SA | sB | sc | s | sE SE | ox | cv | cz M sT | su
35 17 11 23.5 11 17 4 6.5 1 38 8 35 M3 g i@
42 19.5 11 27 15 21 5 75 1 45 8 45 M3 % jf
50 24 16 32 20 26 5.2 8 15 53 8 45 M3 5 %
)
63 30 20 40 24 30 6.3 10 15 66 8 55 M3 &
80 41 30 52 32 40 8.6 13 2 86 10 6.5 M4
% CX. CY. CZ (3T —AMNEEHER~TETT, *Inner dimensions of CX, CY, CZ are recommended dimensions. o

FLEXWAVE WP>1—X 50



51

Flat type D

~FyEZFR  Dimensions Table

S

HO0—ZB 2=y AT . B [EMET—XUF
Cl qT Uni ﬂ—S/fZ Weight Moment of inertia
osed Type, Unit ize e 10
35 033 0.0227
WPU- [1=] -CD 42 0.43 0.0565
50 061 0.113
63 11 0.343
80 02 118
LE
LF LH
LG - cy
QS\'X
0
— — uh'_lﬁgk —
ZlglE] < SN
5l5a ws glal¥|sla
d|Wei
LJ LM
LK
[mm]
b;ﬁz e7‘ A | B | 1lc|w| | LW |wK!|wWH|w |  |w]|N LU
35 49 | 55 | 31 | 425 | 25 | 23 | 05 | 2 5 | 147 17 | 6 | 35
42 56 | 62 | 38 | 495 | 265 | 245 | 05 | 2 5 | 162 | 17 | 10 | 35
50 64 | 70 | 45 | 58 | 207 | 277 | 05 | 2 5 187 17 | 12 | 35
63 79 | 85 | 58 | 73 | 371|341 | 05 | 3 | 55 | 236 | 26 | 18 | 35
80 | 104 | 112 | 78 | 96 | 43 | 40 1 3 | 55 [ 305 25 | 18 | 45
*’éfzex SA | sSB | sc | sD | SE | SF | ¢y | cz | ™ ST sU
35 o5 | 12 | 11 11 17 4 1 38 | 10 M3 x 6 M3
42 27 | 14 | 11 15 | 2 5 1 45 8 M5 x 8 M3
50 34 | 18 | 16 | 20 | 26 | 52 | 15 | 53 8 M6 x 9 M3
63 42 | 24 | 20 | 24 | 30 | 63 | 15 | 66 8 M8 x 12 M3
80 57 | 32 | 30 | 32 | 40 | 86 | 2 86 | 10 M8 x 12 M4

# CY, CZ 134 — AREEHEETE T,

*Inner dimensions of CY, CZ are recommended dimensions.



HO0—ZB 2=y AT . B [EET-—XUF
Cl dT Unit "j'S’f7\ Weight Moment of inertia
osed Type, Uni ize = Ry~
35 046 0.0228
WPU- [1=] -CDH 42 0.63 0.0571
50 0.91 0113
63 16 0.344
80 30 1.18
LE
LG LF
0-ring L O-ring
=
! p—
SipE
HEEE: ws g|S|3ls
; Lf S
LJ LN
LK
LM
[mm]
*géé( LA | B|lC || LE|LF ||| W]l WK|w!|lWN| N LW
35 64 | 70 | 49 | 48 | 22 | 215 05 | 25 | 39 | 49 | 129 | 28 35
42 74 | 80 | 59 | 56 | 227 | 222 | 05 | 25 | 14 | 37 | 134 | 28 | 8 | 35
50 84 | 90 | 69 | 64 | 268|245 | 23 | 25 | 43 | 48 | 163 | 28 | 8 | 35
63 | 102 | 110 | 84 | 80 | 315 | 204 | 21 35 | 55 | 185 34 | 10 | 45
80 | 132 | 142 | 110 | 106 | 37 | 342 | 28 | 3 | 25| 6 |205| 35 | 10 | 55
'%é;i SA | SB | SC | SD | SE | SF | cz | M ST suU
35 42 130 | 11| 11| 17| 4 | 38| 8 M3x5 | M3
42 50 | 34 | 11| 15 | 21| 5 | 45 | 10 M3x6 | M3
50 60 | 40 | 16 | 20 | 26 | 52 | 53 | 8 Max7 | M3
63 73 | 52 | 20 | 24 | 30 | 63 | 66 | s M5 x8 | M3
80 % | 70 | 30 | 32 | 40 | 86 | 86 | 8 M6 x 10 | M4

# CZ 3T — ARNEEHER~IETY .

*Inner dimensions of CZ are recommended dimensions.

FLEXWAVE WP>1—X

uolewoul yueolgn) |(Bulesq urely) uonewnse a4

R
947D

Flat type D

e
o1

| SR

suoneolyioadsg
/ |9pOJA Jeonpay
e

a|qeL suoisuawig

/ (Buleaq onse|3)
uoljewnise aj

(MeEHY ) SR SD A
[ ) RS>

/ Weys indul
18 PBO| WNWIXBIA
I i

RO B>

]
7

/ FNE)

e

uswalinbal
i

aINIX1} JUBIYOBNY
a

it

N ST

anbuo] Bumiwsuel

pue UoIE|eISU|
ol o it

suononJIsuUl Ajlguiasse

BlR( SOlIsleloRIBYD

52



53

~FyEZFR  Dimensions Table

S

Flat type D

F—TVE Iy NIAT i B |BET-XUF
. . YA X Weight Moment of inertia
Open type, Simple unit Size kg <10 kg
35 0.31 0.0233
WPS- 1= -SD 42 0.43 0.0578
50 0.54 0.114
63 0.93 0.347
80 2.0 1.20
LE
LF LH
LG 0-ring
/
o
YUl =
ZIEl= EINEE
aly ¥ s g|s 33
®
Cq
B &
&
QY% cy
[mm]
4;;|42 e7‘ LA | LB lc | LD LE LF | LG | LH LJ N LT
35 43 70 50 49 175 | 155 | 24 2 15.7 8 M3 x 4.5
42 52 80 61 59 185 | 165 3 2 16.9 12 M3 x 4.5
50 614 | 90 71 69 19 17 3 2 17.8 12 M3 x 4.5
63 76 110 88 84 22 20 3.3 2 216 12 M4 x 6
80 99 142 | 114 | 110 | 279 | 236 | 36 43 | 27.3 12 M5 x 8
%fzex sSA | sB | sc | sF | cA | oy | cz | cv | cw | ™ sT | su
35 64 11 17 4 0.3 1 365 | 16 31 8 35 M3
42 74 15 21 5 0.3 1 435 2 37 12 35 M3
50 84 20 26 5.2 0.3 15 53 2 44 12 35 M3
63 102 24 30 6.3 0.3 15 66 2 56 12 45 M3
80 132 32 40 8.6 0.5 2 84 2 72 12 55 M4
# CV. CW. CY. CZ (x4 —ARNEERER~TETT, *Inner dimensions of CV, CW, CY, CZ are recommended dimensions.



A—T VB A=y "NA T (hZeEh)

Open type, Unit (hollow shaft)

WPU- ] -] -SDH

M-¢ST

—lj—STL e7: Weiit 1ﬁl%ne{nt of)i(ne/rtile;
kg x10kgm?
S5 0.49 0.0839
42 0.66 0.180
50 0.84 0.352
63 14 0.940
80 2.8 3.47

LG

LF LH

LL LK LJ

INPUT SHAFT FOR 35&42
[mm]
A% A | LB | LC | LD | LE|LF|LG|LH | L |[L|L]/|L/| L /LR
35 | 43 | 36 | 52 | 70 | 455 | 195 | 12 | 14 | 65 | 75 | 9 | 25 | 55 | 65
42 | 52 | 45 | 62 | 80 | 48 | 205 | 12 | 55| 7 | 85 | 10 | 25 | 55 | 65
50 | 614 | 50 | 73 | 90 | 42 | 215| 5 | 155 | 7 | 85 | 105 | - ] ]
63 | 76 | 60 | 87 | 110 | 465 | 24 | 6 | 165 | 6 | 105 | 105 | - ] ]
80 | 99 | 75 | 114 | 142 | 55 | 286 | 7 | 194 | 75 | 119 | 12 | - i i
'%gg: SA | sB | sCc | SD | SE| SF | M | sT sU N LT
35 | 64 | - | 14 | 20 | 74 | 36 | 8 | 35 M3 8 IM3x45 ¢35x55
42 74 - 19 25 84 45 12 3.5 M3 12 M3 x 45, ¢ 35x%x65
50 | 84 | 255 | 21 | 30 | 95 | - | 12 | 35 | M3xse 12 |M3x 45, ¢ 35x65
63 | 102 | 335 | 29 | 38 | 115 | - | 12 | 45 | M3xs6 12 | Max6 ¢45x85
80 | 132 | 48 | 41 | 54 | 147 | - | 12 | 55 | M3x6 12 | M5x8 ¢55x76

FLEXWAVE WP>1—X

uolnewIojul JUBDLIgN| |(Bulieeq Ulgpy) UoTewss )

R
947D

Flat type D

£7
8 2 Bk
5o
2= #I
s§ =
w% I\
o
3 &
o R
(=]
=]
[
Iy
g
]
5 EE
%g BRI
S
I EHE
2o~
55 x o
ST
— ﬁi@
~ X
e

/ Weys indul
18 PBO| WNWIXBIA
I i

RO B>

]
7

/ FNE)

e

uswalinbal
i

aINIX1} JUBIYOBNY
a

it

anbuo] Bumiwsuel
AN\

pue UoIE|eISU|
ol o it

suononJIsuUl Ajlguiasse

BlR( SOlIsleloRIBYD

54



Flat type D [®&¥5+7D]

L

EoETE (SEMEERSE) Life estimation (Elastic bearing)

HIEEZ T E

Life span for the elastic bearing

W Em Y-V

Operation cycle example

T, | |
&by | T, |
Working torque } T, ! T,
1 i)
| | Time
ny L N3
H A EIER 2L &
Output rotation
spegd bl %] Y ‘ =]
Time

OFHHA MILY - BEREA ML DOEH

Calculation formula for output torque

SEHED LY

Average output torque Tao

Nm

. t1.|7‘1|3+ Nt 72|3+...+ N, tn.|7n|3
ot

Tao :3\/ n,

n,-t,+n2°t2"°nn n

=AHS LD

Peak output torque value Tmo

Tmo = 7—/, 7—2, ‘e 7;, O)EEij(ﬂE
Tmo = Largest among Ty, Ty, = T,

A ML DHFRERENUTTCHE L2 CHIEETIWL

Please make sure the peak output torque is below the maximum output torque in the specification table

QFHANEERL - e AN EEHOHE T
Calculation formula for mput speed
g EEREL : Nty +nytyeeen, i,
A nao | r/min nao=
Average output rotation speed t+t,t et t,
e EER L nmo | r/min nmo =n;, n, - n, DEXIE
Peak output rotation speed nmo = Largest among ny, ny, *** n,
G A ElEREL : : - . = rati
Average input speed nai | r/min  pai=npao x R (R=g&EL) (R=ratio)
HE A EERE ; ; - = b - rati
Peak input speed value nmi | r/min  nmi=nmo x R (R=E&EL) (R =ratio)

REANEGEHNTFRREANBELLUT THE L& THET IV

Please make sure the peak input speed value is below the maximum input speed in the specification table

@?_"._:F H‘J'Fﬁﬁmn-l_ﬁ
Calculation formula for life span
BT SR Jar \S [ nar
Part life span for the elastic bearing Lz 2 Lhe = 7000 x Tao nai
TEM MILY Tar | Nm | TEREROFFEER bLY
Rating torque Nominal output torque in the specification table
TERE AT EIRREL ; i
Rating input rotation speed har r/min | 2000 r/min

55



R
947D

Flat type D

FEaietE (ERF) Life estimation(Main bearing) 97 ftu
i 1
7 8 =
> vg@g@ = OIS
ﬁj—t == /%rﬁn'l'%: Model selection / Life estimation -
B EEHSAR(VORO—785) Main bearing specification(Cross roller bearing)
o ~ |
JAONEYFAE |47ty b8 | ERBERTE | EARTHREE | FBRET—XVH | E=XV MK § =
A 44 z | Pitch circle diameter | Offset Basic dynamic |Basic static load| Allowable Moment g X
e . of the bearing rollers load rating rating moment rigidity ?
Series Size o
Dm L C Co Mal Km o3
m m N N Nm x 10" Nm/rad
&5 0.0335 0.0090 5620 6540 36.5 7.35
42 0.0410 0.0095 6340 8170 55.8 8.02
WPU-1-[0-CD | 50 |  0.0493 0.0105 10400 13300 91.0 135 s05 2%
gog B0Z
63 0.0615 0.0128 15800 21100 156 27.7 §§_§* gg
80 0.0815 0.0130 24400 35600 313 66.0 §§§-;§§
&5 0.0505 0.0062 7110 10200 74.0 14.4 52 ¥ %
42 0.0598 0.0066 10900 15200 124 19.7 g =
WPU-[1-[1-CDH 50 0.0708 0.0077 17200 24700 187 40.1 é
63 0.0856 0.0092 25100 37400 258 71.5 gggﬁ%
80 0.114 0.0106 43300 67600 580 188 S22 Hl
&5 0.0512 0.0111 8010 11400 37.0 8.86 ;T:g g.%
3 N
42 0.0614 0.0112 7370 10900 62 20.8 =
WPS-[-[-SD | 50 0.0715 0.0114 8030 12800 93 22.5 %
63 0.0869 0.0128 14300 24500 129 33.3
80 0.113 0.0181 23700 42500 290 84.5 gg Hx
&5 0.0512 0.0166 8010 11400 37.0 8.86 g(ﬁ %
42 0.0614 0.0177 7370 10900 62 20.8 22 E
WPU-[J-[0-SDH 50 0.0715 0.0179 8030 12800 93 22.5 S
63 0.0869 0.0213 14300 24500 129 33.3
80 0.113 0.0257 23700 42500 290 84.5
B |
B N ERE A 2k
External load @ )7"
g
WPU- [1--CD WPU- [1- J-CDH WPS--]-SD WPU- [0- J-SDH ¢
L L L L
Lr L ‘—T [‘—’ . 83 i
A IS o8 =
A =S
ol || (i
il £ E £ v
] o (=) o L
© I
— Fa |
— O 4
4> - 3 II_E
&
g

FLEXWAVE WP>1—X 56



57

g

Flat type D

ADEHDERTTE Maximum load at input shaft

BET AR (F—T VB 2=y A7) Bearing specification (Open type, Unit)

XF7Yvg A XF7YvIB
Bearing A Bearing B
A Hq x| BABERWE | EABERWE | EXABERWTE | EABERTE a b
vl . A . Basic dynamic load | Basic static load Basic dynamic load Basic static load
Series Size rating rating rating rating
C Co C Co
N N N N mm | mm
85 4000 2470 4000 2470 16.0 | 20.0
42 4300 2950 4300 2950 16.0 | 22.5
WPU-[J-[J-SDH | 50 4500 3450 4500 3450 14.5 | 18.0
63 4900 4350 4900 4350 155 | 21.8
80 8800 8500 6400 6200 17.0 | 285
RFYVTA —
Bearing A R7Uv4B
1 Bearing B
s =]
W= =

M AFAEE (FHAHNEERE:2000r/min, F4nkER : 7000h0)

Maximum load (Average input rotation speed : 2000r/min, Life span

: 7000h)

WPU-[]-[1-SDH

=35

800

700

—1)

600

w50
— 63

500

& Fr[N]

400

i

300

77 )Lq

AN

200

P

Radial load

100 4

100

200

300 400

7 ¥+ I)LfE Fa [N]

Axial load




R
947D

Flat type D

SEYEE  lubricant information £3 1
2o
7 8 =
ERTY—2R -
Grease
237 v ZMP No.2 (1ESEEEFIRRLE4E) Sumiplex MP No.2 (SUMICO LUBRICANT CO., LTD.) B
[FREESSHE:0~40°C (BAHEEE) Operating temperature range:0-40°C(ambient temperature) g g
2 %
5 — 287
Grease application ®
LUFoBY . BEEE R EIC T —R 2B AL TTEW, Please apply grease according to the table below.
W J)—RBHE Grease application e B
o p g . . e = 2 %o A AD
 BAERTCIE. SERORMU A TS (AR RS, LR TR CLURBREZEELTTSL, [ 0
(FY—REAFEHDLZY F9A 7 (&, C (A E) DY - ZBANFESNTOET.) e
SBSEHE E I E FAEDHAFANASSY ~r—AHEECZEN50% DY -2 EFELTFEL, BT
T AREHCKVITU—ZADAR R T 25 EEEFTEEWEOEEE L, [9] s -2
-The quantity of grease applied to C should BHEET Applied part E
be adjusted depending on the mounting H4 X o) C C ;5'3 A
direction. Size = & &5 g3g &
. . A B (#EmE) | (tAE) | (FAE) D 35 B A
C of the unit type product is already Horizontal | Vertical up |Vertical down 3%¢ IE::
f|||e_d with the same quantity of grease as 35 0.2 0.2 3 4 5 02 532 Z)F
horizontal mounting. g 3 ;§
-For vertical up/down, 50% of the space 42 0.3 03 S 6 ’ 03 § =
between input assy and casing inner wall 50 0.4 0.4 8 9 11 0.4 S =
should be filled with grease. o 63 08 0.8 16 19 21 08 =
-If the amount of grease is not sufficient
due to case design, please contact us. 80 1.5 1.5 36 42 48 1.5 3z Iy
N . <8 fit
—AEMnA rease application location 33 8
W 57— 2B G pplication locati N
s=2 Ix
| WPC-0-0-CD | | WPU-0-0-CD | 3
T—Z2  ZEEO50%%FIE ¢
r—2
Casing EEOS50%%EFTIE )
D Fill 50% of the gap in volume ;f;;ﬁp“ed + |
i Tz i &
Vertical 3 E
down ERIN
s b
oY
Az
- Vertical
=3 up - -
Kl = =2\ ZE050%E 7l iz
Horizontal =2 TEEOS50%% FE ég %
—.D I/\
| WPU-J-C1-CDH | | WPS-0J-J-SD | 23
F—2  EEOS0%EFHE r—2Z ZEBOS0%ERE 5
AR H l i ! ﬁ B
Q
ﬁ C | m— 1 l! %) 1]&
! 2 7
s %
k o 1T ) :U)
: [ =i ~ i | :
4 tJ ) 3 T
il ol i
i ‘ i k y— AN EBOSN%ERE
7—2 \EBO0%ERR FLEXWAVE WP>1U—X 58



Flat type D
ENfTREE  Attachment fixture requirement

B R Attachment fixture requirement

| WPC-0J-0-CD | | WPU-OJ-0-CD |
IR 1=
.
%g — e Ve >N
. THAL s
§ 7-} éo— ¥ 2 b
° - J PR AN 1 =
3 b Shaft —| |— v éﬁf
- § igal 28 |
£ —
sl § —
ERD - %’,3
x| !
EBfHEE [mm] R [mm]
-bL./f A 5 42 50 63 80 -'j-./{ A &5 42 50 63 80
Size Size
a 0.015 0.015 0.018 0.018 0.023 a 0.020 0.020 0.020 0.025 0.025
b 0.010 0.012 0.014 0.016 0.020 b 0.012 0.012 0.014 0.016 0.016
© 0.013 | 0.013 | 0.015 | 0.018 0.020 © 0.016 | 0.020 | 0.024 | 0.024 | 0.024
d 0.015 | 0.015 0.018 | 0.018 0.023
e 0.015 0.015 0.018 0.018 0.023
f 0.012 0.012 0.014 0.016 0.016
g 0.016 0.020 0.024 0.024 0.024
WPU- - (]-CDH | [ wWPS-O0-00-SD |
IR
:
Y x T
=2 o | "
- (A Ty b —2
% I I % '@! 7 e
EREENE s e

HRAZHE
HRAZHT
e 38

v b
of— R < J v
H 4
% : 4 &
w
Y |

% 7/ %

EHEE [mm] EHEE [mm]
PAZ | 35 42 50 63 80 YAZX1 35 42 50 63 80
Size Size
a | 0020 | 0.020 | 0.020 | 0025 | 0.025 a | 0020 | 0020 | 0.020 | 0.025 | 0.025

b 0.012 | 0.012 | 0.014 | 0.016 | 0.016 0.020 | 0.020 | 0.020 | 0.025 | 0.025

© 0.016 | 0.020 | 0.024 | 0.024 | 0.024 0.020 | 0.020 | 0.020 | 0.025 | 0.025

0.012 | 0.012 | 0.014 | 0.016 | 0.016

D Q0 |T

0.016 | 0.020 | 0.024 | 0.024 | 0.024

59



R
947D

Flat type D

{=ZENILY  Transmitting Torque

9D 4+
8& R
R
Sz Al
> N 5% =
HRILRERE AL RORE PO TFROBUTY, -
Bolting Please refer to the table below for the bolt tightening torque.
AL M bILY — 3T
Tightening torque for bolts 2 %
FILFFA X [Bolt size M3 | M4 | M5 | M6 | M8 | M10 5
#B4+ hJLo [INm] [Tightening torque| 1.9 4.3 8.7 15 36 71 &
HAEAULL MRS 12.9 BLE
Recommended bolt : Strength rating above 12.9
IEEPMILY (U0—ZB 2=y +547) Ca5 ﬁﬁf
Bolt specifications and Transmitting torque (Closed type, Unit) %é% ;;;r
HAH7 oV VBAM (WPU-O-0-CD) Output flange attachment §§ f T @
F4R Size 35 42 50 63 80 £= ¥4
ALY AX Bolt size M3 M5 M6 M8 M8 s T2
RIL M AE Bolt count 10 8 8 8 10 3
Huff PCD _[mm] |Bolt PCD 25 27 34 42 57 Er——
¥+ ~JL4o [Nm]|Tightening torque 1.9 8.7 15 36 36 geg E%
f&Z h LY [Nm] [Transmitting torque 58 141 252 566 960 %fgé 'J?}%
2°F #
AV FILFYENAN (WPU-CI-I-CD) Internal gear attachment § ® ;E
S ]
T4 X Size 85 42 50 63 80 =
AL b YA X |Boltsize M3 M3 M3 M3 M4 -
RIL b AR Bolt count 6 10 12 18 18 -
Bft PCD [mm] |Bolt PCD 49 56 64 79 104 gg %
&+ FJLH [Nm]|Tightening torque 1.9 1.9 1.9 1.9 4.3 g3 i
=& LY [Nm] |Transmitting torque 68 130 178 330 757 g3 =
Hh7o v I (WPU-O-C-CDH)  Output flange attachment s
PR Size 5 42 50 63 80
AL YA X Bolt size M3 M3 M4 M5 M6
AL AR Bolt count 8 10 8 8 8 g',' =
B PCD [mm] |Bolt PCD 42 50 60 73 96 E ®
#4+ ~JLo [Nm] |Tightening torque 1.9 1.9 4.3 8.7 15 2
{=Z FJLS [Nm] |Transmitting torque 78 116 194 382 713 % 2
3
A V5 FILFVYERAS (WPU-O-C-CDH)  Internal gear attachment
PP Size g5 42 50 63 80
ALY A X |Boltsize M3 M3 M3 M4 M5 82
AL b AE Bolt count 6 8 8 10 10 %;:) g
Bxff PCD_[mm] [Bolt PCD 64 74 84 102 132 =S Iy
#E4T bJLo [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7 23
=& b JL [Nm] [Transmitting torque 89 137 156 412 864 2

A2 B ILFXYEM
{Intema\ gear attachment

Q %

4V BF ¥V E s &

Internal gear attachment g 7|—

BH 75 Ot 5 %
Output flange attachment 3 / >
BN 7 5t 5

Output flange attachment

FLEXWAVE WP>1—X 60



Flat type D
{=ZENILY  Transmitting Torque

(EENILY (YO0—ZB avERY 94F)

Bolt specifications and Transmitting torque (Closed type, Component)

7Ly AFVEUT  Flex gear attachment

VIS Size 35 42 50 63 80
ALY A X Bolt size M3 M4 M4 M5 M6
NIV M AEK Bolt count 8 8 8 8 10
Bt PCD [mm] |Bolt PCD 17 19.5 24 30 41
¥+~ JL4 [Nm]|Tightening torque 1.9 4.3 4.3 8.7 15
{mZ FJLS [Nm] |Transmitting torque 32 63 78 157 380
AV FILEFVEST  Internal gear attachment

PP Size 35 42 50 63 80
AL A X Bolt size M3 M3 M3 M3 M4
RIL b A Bolt count 6 8 12 12 12
Bt PCD  [mml] |Bolt PCD 44 54 62 75 100
#&f+ ~JL4o [Nm]|Tightening torque 1.9 1.9 1.9 1.9 4.3
{=Z rJLY [Nm] |[Transmitting torque 61 100 172 209 485

{22 FIL 2V Eft \
Internal gear attachment *i

— N
Ve i

[ [

!
!

JL w4 R X vEf | —

Flex gear attachment

I

(EZEPNILD F—TF 8

Bolt specifications and Transmitting torque (Open type)

T Ly AFYEUT  Flex gear attachment

PEPS Size 5 42 50 63 80

AL HAX Bolt size M3 M3 M3 M4 M5

ARIL b AEL Bolt count 8 12 12 12 12

Bt PCD [mml] |Bolt PCD 64 74 84 102 132
#4 bJLS [Nm] |Tightening torque 1.9 1.9 1.9 4.3 8.7

fmEZ bJLs [Nm] [Transmitting torque 119 206 234 495 1037
AV FILEVEST  Internal gear attachment

T4 X Size 5 42 50 63 80

RILEHA X Bolt size M3 M3 M3 M4 M5

RIL S AREL Bolt count 8 12 12 12 12

Bt PCD [mm] |Bolt PCD 43 52 61.4 76 99

#E4+ F Lo [Nm]|Tightening torque 1.9 1.9 1.9 4.3 8.7

{=2E bJLY [Nm] |Transmitting torque 80 145 171 369 778

JL v 4 2 EvEf

. . Flex gear attachment N
2Ly v RAEYENM ] 4L B

Flex gear attachment [ f 42 ZFIILFVE qp
° _g Internal gear attachment o Internal gear attachment
[

AN

—d

61



R
947D

Flat type D

S = . . : .
SERERIR Installation and assembly instructions g3t
28 T
A 77+ B 8h D 3 HF (wpe-0-0-c0) -
Shaft installation instruction
A& - HDB(S BRI DOV TIIRME - TF v VR EZZ (TR OBELLTTEW, N
(TRI(FSZEH) o —?E
A LICIZBOREREBDODASAMIENMERLET A LD A RICEI D 7E VLD BEELTFEL, % =
Please design the support structure for input shaft and output shaft so that both radial and axial loads are :j%
supported. (Diagram below shows an example) g
Inside thrust load has effect on the cam. Secure cam from the possible axial movement.
Hi —
Output shaft A S f%f ﬁ%
Input shaft £oZ BTaES
- O =R
- I 7 =~ 4
- L \_rnfﬂn:ﬁ g B
OO @ E3FEA
L éig %%%é
1 = I 2279
- Cam S & &f
E 2 =
S ]
=
3z ® |
33 18
52 K
5 &
3 =
3 b
4
g
o8 B
gz 3
S &

ele(] SolsleoRIBY)

FLEXWAVE WP>1—X 62



)

Flat type D
BrME—4  Characteristics Data

AEGERE

Transmission Angular Accuracy

1.0
AEEERELIT
ERFM CAN#MZEEZESELHEANOER/ LD £ 05 Tﬁfi4§§*§f§y
HIN SR f & ER OHI N EEE A 3= 3 s
. . . o 0.0 1 M“,I\\‘H“]ll\I“ml““\‘l‘mlu W,‘ MMEnnEnEEN L
What is Transmission Angular Accuracy? @ 2 A L (1T "Il” ””]”l” H] l”””’”””llll‘l”
It is the difference between the measured output %’i ug
rotation angle and the theoretical angle, while § -0.5 =N
input shaft is rotated with no load. o
10, 90 180 270 360
HHEE R A E ()
Output shaft rotation angle (deg)
[arc min]
. P4 X
BOE L Size
Ratio ™35 | 42 | 50 | 63 | 80
50 2.0 2.0 1.5 1.0 1.0
80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0
HROEFSEETT,
Table values are reference values.
EXFJA0X
Hysteresis Loss
E2FULRORENE REn AR
ADEEEE L TCHEAEIC ML ED TGS r
DEAMLIREORENAEDZE EXTULZAR
. . Hysteresis Loss
What is Hysteresis Loss?
When torque load is applied at the output shaft
in alternate direction repeatedly with input shaft 7 > KLY
fixed, there is residual twisting angle when / Torque
torque is back to zero. /
In this context, hysteresis loss is the difference
in the forward and backward twisting angle.
[arc min]
. P4 X
B B Size

Ratio ™55 T 42 | 50 | 63 | 80

50 2.0 2.0 2.0 2.0 2.0

80 1.5 1.5 1.0 1.0 1.0
100 1.5 1.5 1.0 1.0 1.0
120 - 1.5 1.0 1.0 1.0

63



R
947D

Flat type D

L3 L IH
8& R
56 fE
icom
7 8 =
= N =, , B e
RANNVITYVE -
Maximum Backlash [arc sec]
s = . YA X |
1O NAVM A% Rt B b Size 5
N o — o N Rati 3 2
ANBHRT 5S4V 54T DHBEDHEHBIDSA S Aol 35 42 50 63 80 sz
(BEDEHENERD/ N5y (E 0 Db Uy K54 50 27 27 18 16 16 2
TTl3N\yISyo(E 0 ERUEY) 80 17 17 11 10 10 g
What is Maximum Backlash? 100 13 13 o) 8 8
In this context, maximum backlash is the output 120 11 7 2 7
backlash for spline type input shaft. (Backlash is -
zero for rigid type input, because gear engagement e B
X o OF ;ET?’_'t_T
backlash is zero.) o350 fHAD
£52 2t&r
BFE HE
EEREY
Bl (vo—XB 2=y b 94 7F) K1 kL2 10 ~ T, DIz g =
. ] Spring coefficient at 0 ~ T, torque 2
Stiffness (Closed type, Unit) Ko R ILO BT, ~ T, DIF e — \E
Spring coefficient at Ty ~ T, torque gg 5 /;‘7]
R & (& K3 MG 1T, ~ Ol 222 s
L . Spring coefficient at T, ~ torque i%g D
AN ZEELTHABIZ ML EDNF=HE DI S 2
REHLRLNE S — : B
What is Stiffness? K, : =
In this context, stiffness is the output shaft twisting © :
angle and the spring coefficient, while torque load = i 5z m |
is applied to the output shaft with input side fixed. 5o : S8
5= K i i EER
E | | iz E
0 : 1
T amiy
Load torque
B |
- i} o Y4 X 3 iE
woEl | e Bfiy Sizé = T
Ratio item unit 35 49 50 63 80 i 5
- T, Nm p) 3.9 7 14 29 E
- Tz Nm 6.9 12 25 48 108
K, x 10*Nm/rad 0.39 0.66 1.1 2.2 4.6 —
23
K, x 10°Nm/rad 0.47 0.75 14 26 5.1 65 g
50 K, x 10°Nm/rad 0.52 0.82 1.4 27 5.6 S &
0, arcmin 17 2.0 2.2 2.2 2.2 g2
6, arcmin 5.0 55 6.3 6.4 7.2 @
K, x 10°Nm/rad 0.44 0.86 1.6 2.9 6.2
30 K, x 10°Nm/rad 0.60 1.0 1.9 3.2 6.5 g
100 Ks x 10*Nm/rad 0.72 1.0 1.9 3.1 6.5 !
120 6, arcmin 1.6 1.6 15 17 16 g
6, arcmin 4.0 4.1 4.6 5.2 57 g
MERDEFFHEETT,

Average value shown in the table

FLEXWAVE WP>1—X 64



)

Flat type D
BrME—4  Characteristics Data

——

BHBEIMNLY (Un—2B 1=y 54T) [eNm]
Starting Torque (Closed type, Unit) PR ﬁséel
Ratio
S 42 50 63 80
v L

E—E”\) \7(‘:__(1 . _ 50 7.0 11 14 17 26
]\j]{ﬂ”h‘b@if\éﬁé%é(:\ ]\jj{ﬁ”ﬁ‘@if\é 80 6.8 9.5 13 24 26
RHD LY 100 6.4 | 9.4 11 14 20
(mafr. ABEERE:25°C) 120 - 8.1 9.3 14 20
What is Starting Torque? M FRAREICLIVENERRUEFTOT, BEETT,
Input torque needed for input side to start 2 ATMAA A Iy — LR —IART Y v T EDREREHT
rotating (no load, ambient temperature : 25°C) CLBEBEEINTVWEEA,

*1 For reference only. Torque value may vary depending
on the condition.

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

BESHARE L i)
Output Starting Torque(Closed type, Unit) /Ratio oz

35 42 50 63 80
iéiiﬂéﬂii) ML &I 50 1.2 3.6 4.4 5.8 13
HARDSEES EHBAC HhRrEEE oo 10 89 72 L 18 | 20
meHDhILY 120 - 42 | 8.1 10 30

\AH. AERE 25° \
(REF. AERE :25°C) 1 AR LU ENRA U ET 0T, SEETT,

What is Output Starting TOI’QUG? W2 ANBIAA IS —IILDR—ILRT Y ¥ S Atk
Output torque needed for output side to start ICEBEBISINTVIEA,
rotating (no load, ambient temperature : 25°C) *1 For reference only. Torque value may vary depending

on the condition.
*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

[cNm]
- N
mEf N YA %
—_— N, — N °> ‘/}ﬁgtt EE_% Size
7/—47 MLD Hatio 35 | 42 | 50 | 63 | 80
— ZH — °
(Y0—ZXE, 2=vh547) 500/min | 3.4 | 75 | 92 | 17 | 35
No-load Running Torque 1000 i 4.3 8.2 11 18 37
(Closed type, Unit) 50 r/m?n : :
2000r/min 5.0 8.5 13 18 39
WMEFSVIVIMLYEIZ 3500r/min 5.4 11 14 22 38
EEE CEESEE0ICBER 500r/min 3.2 7.6 10 20 35
o [t w0 a7 e o]
N - 0, | . .
CPfE. AERE :25°C) 3500r/min | 5.2 11 14 24 38
. . i .
What is No-load Running Torque? ,
. 500r/min 3.2 7.1 11 21 36
Input torque needed to keep it .
running with no load (average 100 1000r/min | 4.0 8.2 13 23 39
value, ambient temperature : 25°C) 2000r/min 4.7 8.4 14 24 39
3500r/min 5.1 9.7 14 25 38
500r/min - 6.7 9.8 23 40
120 1000r/min - 8.1 12 24 41
2000r/min - 8.4 13 26 41
3500r/min - 8.4 13 26 39

A FERAFFICLVENEGY EFTNT, 2EETT,

W2 ATMAA AN —IPR—IUART ) v TEORERIIC L 2HEFE
INTWFELEA

*1 For reference only. Torque value may vary depending on the condition.

*2 Charts does not show effects due to rotation resistance of
bearings and oil seals on the input side.

65



R
947D

Flat type D

3 L
8 & BRE
58 1
;s #
e N o 7 % I\
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
BE (%] C BRIV | EFREKNLY -Percentile Load (%) is equal to load torque divided by o ;E B
allowable average torque. g I
=] . B/ %}
Jﬁ@lﬂl@: - 25°%C -Ambient temperature : 25°C g =
S S TEERT— S OTHETT, 1 ;Eteusael (rjr::g;irrr;s;nreeﬁtresent the average value of the g
ST o R N — . )
H2 ADA AN =PRI T I TEDEER Charts does not show effects due to rotation
EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
CRCER|
ig5 EH
S3S T am
237 x13
o - =
g ~
g
WPU-35-50 WPU-35-80 Be¢3 %’T‘J &
255
S+ )]
100 100 STE
e 500 1/min e 500 r/min R
90 | e 1000 r/min 90 [ e 1000 r/min El ]
e 2000 r/miin e 2000 r/miin %
> 80 [ e 3500 r/min > 80 e 3500 r/min
C C o
8 ™ g7 3z m
T 60 — 5 60 ¢
— — 33 18
& 50 2 50 52 &
M i 5
30 30
20 / 20 |
3 iz
o
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
Bfr (%] Percentile Load a7 [%] Percentile Load E )71/
-
WPU-35-100
o0 i1 2
O © =
e 500 r/min 35 =
90 [ = 1000 r/min %% 1%‘
@ 2000 r/min a2
> 80 || e 3500 r/min gé
3 70 :
©
5 60 //
g 50 //-_ Q %
y £ i
# 3 =
= 40 % 7I—
30 % 5
20 g
iy
10
0 20 40 60 80 100
A% [%] Percentile Load
FLEXWAVE WP>U—-X 66



67

)

Flat type D
BrMEST—4 Characteristics Data

PR (YO—RE, 1=y hAT)

Efficiency (Closed type, Unit)

-Percentile Load (%) is equal to load torque divided by
allowable average torque.
-Ambient temperature : 25°C
*1 These diagrams represent the average value of the
actual measurement.

BE (%]  BENLY | ERERNLY
BAEEE : 25°C
¥1 55 T73ERF—yDEHETT,

M2 AFEIA ALY —IILPR =R T v T E D EER
EHICLDHEIESINTOEETA,

*2 Charts does not show effects due to rotation
resistance of bearings and oil seals on the input side.

WPU-42-50 WPU-42-80
100 100
e 500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
s 2000 r/min s 2000 r/min
. 80 e 3500 r/min - 80 [ e 3500 r/min
o 70 o 70
= = //
o 60 o 60 /
= 50 = 50
# 40 # 40
30 / 30 /
20 20 ¢
/7
10 10
0 20 40 60 80 100 0 20 40 60 80 100
A7 [%] Percentile Load &% [%] Percentile Load
WPU-42-100 WPU-42-120
100 100
e 500 r/min e 500 r/min
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ s 3500 r/min
5 70 B 70 —
9o o
= L — = //
60 //’ w60 / —
§ 50 //_— § 50
# 40 //// B 40 /
= y /2 =
30 30
20 20 4
10 10
100 0 20 40 60 80 100

20 40 60 80
A& [%] Percentile Load

& [%] Percentile Load



R
947D

Flat type D

23 LB
8 & BRE
58 1
;s #
e N o 7 % I\
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
B (%] BENLY | FRERNLY .Pircenkt)ille Load (%)t is equal to load torque divided by c ;E B
. allowable average torque. g 1
N =] . O 23
Jﬁ@lﬂl@: - 25°%C -Ambient temperature : 25°C el =
o e N *1 Th i h lue of th .
1 TS TEER T — S D ETT, acteusaeI (rjr:zg;irrnes;nreeﬁtresent the average value of the 5
ST o < N — . )
H2 ADA AN =PRI T I TEDEER Charts does not show effects due to rotation
EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
CRSEE|
ig5 EH
S3S T am
23° x1
o - =
g ~
g
WPU-50-50 WPU-50-80 Be¢3 %’T‘J s
255
S+ )]
100 100 g\g il
e 500 1/min e 500 r/min R
90 | e 1000 r/min 90 [ e 1000 r/min El ]
e 2000 r/miin e 2000 r/miin =
_ 80 [ === 3500 r/min - 80 [ === 3500 r/min -
O o
5 70 — & 70 3>
2 _ ° _————= iz =
T 60 = = T 60 — S5 i
R 50 & 50 -2 E
o4 o4 5
& &
30 7/ 30
20 20 |
=
10 10 :
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
Bfr (%] Percentile Load a7 [%] Percentile Load E )71/
)
WPU-50-100 WPU-50-120
100 100 23 iE
O © =
e 500 r/min e 500 r/min 35 =
90 | === 1000 r/min 90 [ e 1000 r/min 5 I%—
s 2000 1/min s 2000 1/min Zo &
_ 80 { e 3500 r/min . 80 [ === 3500 r/min =3
%) o 2
-5 70 5 70 // %
2 k) /
0 60 o 60 ////
é 50 é 50 /// :'z'_) g
M 4 P 4 8 =
& & BT
30 30 % 5
20 —# 20 g
iy
10 10
0 20 40 60 80 100 0 20 40 60 80 100

A& [%] Percentile Load

&

[%] Percentile Load

FLEXWAVE WP>1—X 68



69

i

Flat type D
BrMEST—4 Characteristics Data

EACI=Er e N P
Efficiency (Closed type, Unit)

BE (%] BRENLY | EFREKNLY -Percentile Load (%) is equal to load torque divided by
. . o allowable average torque.
FRERE : 25°C -Ambient temperature : 25°C

. .= |l = *1 These diagrams represent the average value of the
% |5 — 7t (E ¢ R
1 TST7EEMNT—IDFHETT actual measurement.

H2 ADRA AL —WXIR—IAT Y T EDERR *2 Charts does not show effects due to rotation

EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
WPU-63-50 WPU-63-80
100 100
500 r/min e 500 r/min
90 [ e 1000 r/min 90 [ e 1000 r/min
e 2000 r/min e 2000 r/min
. 80 [ e 3500 r/min - 80 e 3500 r/min
2 2
2 70 o 70
o o
o 60 o 60
= 50 = 50
40 // 40
EX EX

30 /// \ 30
20 / 20

10 10
0 20 40 60 80 100 0 20 40 60 80 100
A7 [%] Percentile Load &% [%] Percentile Load
WPU-63-100 WPU-63-120
100 100
e 500 r/min e 500 r/min
90 [ = 1000 r/min 90 [ = 1000 r/min
s 2000 r/min s 2000 r/min
> 80 [ e 3500 r/min > 80 [ s 3500 r/min
3 70 3 70 —
£ = P
L 60 L 60 //
= 50 = 50
# 40 # 40 //
EX EX
30 / 30
20 20 Y4
10 10
0 20 40 60 80 100 0 20 40 60 80 100
A% [%] Percentile Load & [%] Percentile Load



R
947D

Flat type D

LF L
8 2 #k=R
58 1
=z A
22 =R
P Mk N — o 2@ —
IR (YO0—RB 1=y + 54 T) =
Efficiency (Closed type, Unit)
BE (%] C BRIV | EFREKNLY -Percentile Load (%) is equal to load torque divided by o ;E B
allowable average torque. g I
N=| . o )
Jﬁ@lﬂl@: - 25°%C -Ambient temperature : 25°C el =
. .= = *1Th iagrams repr nt the aver val f th -
1 I STRBT S OTHETS. These diagrams represent ihe average value of he
H2 ANPA AN —WXRR—NART Y TEDERR Charts does not show effects due to rotation
EMICELZEEFTESINTWEEA, resistance of bearings and oil seals on the input side.
CRSEE|
=0 = E E
588 WA
S3S T am
~—a =+
5= B
5 =
o - %
g ~
S
WPU-80-50 WPU-80-80 Be¢3 %’E,‘J &
255
5= D
100 100 g\g il
e 500 1/min e 500 r/min R
90 [ e 1000 r/min 90 [ e 1000 r/min 8 )
e 2000 r/miin e 2000 r/miin =
_ 80 [ === 3500 r/min - 80 [ === 3500 r/min -
2 2
g7 g 3z m
0 60 o 60 5
— — 33 18
= 50 = 50 i3 K
¥ 4 ¥ 4 A//' :
= 0 = 0 / @
30 30 /
20 20 |
3 iz
10 10 :
0 20 40 60 80 100 0 20 40 60 80 100 ERIMN
&% [%] Percentile Load &% [%] Percentile Load H )7[/
-
3
&
WPU-80-100 WPU-80-120
100 100 42 i
jo =]
e 500 r/min e 500 r/min 35 =
90 | === 1000 r/min 90 [ e 1000 r/min 5 I%—
s 2000 1/min s 2000 1/min Zo &
_ 80 { e 3500 r/min . 80 [ === 3500 r/min =3
2 2 5
@ 70 o 70 3
9o o
o 60 o 60
& 50 e 50 / 2 E
o4 H o4 8 =
& & BT
30 30 g2 4
/ 3
20 20 g
iy
10 10
0 20 40 60 80 100 0 20 40 60 80 100

A& [%] Percentile Load

& [%] Percentile Load

FLEXWAVE WP>1—X 70



N

—All for dreams

CEEADEIE BURAEZ L BHRAD L
ELKBEVWTEL,

BARSEELRKRSH

sEVELEERD

E£%%ES ) —7  TEL.075-958-3670 L7 JILEEH - 7L w IR UIT—7 - TOMEEE - &% - BEVEDE

ARAt - BREA T617-0833 REBFIRMREHEIFHL TEL.075-958-3670 FAX.075-958-3671
B R YA T141-0032 EEALS/IXAB1-20-13AABEERRE L TEL.03-3494-0721  FAX.03-3494-0720
JLRIER & ¥PT T330-0854 FERIV-EFHAERMARL-9-4T74LY bR LI TEL.048-645-1365 FAX.048-645-1361
A X T617-0833 REFERMERDEEFH TEL.075-958-3670 FAX.075-958-3671
LHESER T450-0003 ZEERTFRLERE1-21-19 LERY TR R RI I 7128 TEL.052-589-1338  FAX.052-589-2838
SR B ¥ T920-0027 SRMIERFEHEI2-16-7 TEL.076-233-2626  FAX.076-233-2627
B EEMR T812-0016 fEEMESXIELREL-7-227 v o O—VE[E L3 TEL.092-411-4750 FAX.092-411-4785
AMH-£250~7 T617-0833 REFIERMRMEHEIFHL TEL.075-958-3629 FAX.075-958-3695
BRI-£2~7 T330-0854 BERIWVWHFMABKMALL-4I7tLY bAEE L3R TEL.048-645-1365 FAX.048-645-1361
iz} g% TAVAAES DT IV AR A RA U A= RN T TR HE BE BB AR

o ERERME KRN/ T RIS/ BT AR/ B ES - KRR AR S AR

o & NEAIC DOV T D BERMADEIREFVDOEXIE - BEEMETHBRLLET,

e CDHROYTIE2020FE8 B RAEDAB TT HRDINE IR A LIFHEDDICEETZENHDET,
Copyright NIDEC-SHIMPO Corporation. All Rights Reserved.

| BABEY VK

www.nhidec.com/jp/nidec-shimpo

1T-2008010 40960K



